
tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

	

ijh{k.k iqfLrdk

lkekU; vè;;u

(twu eSx”khu tk¡p ijh{kk)
fnukad& 13-06-2021

le; % nks ?k.Vs	 iw.kk±d % 200

vuqns'k
	 1-	 ijh{kk izkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky vo'; dj ysa fd blesa dksbZ fcuk 

Nik] iQVk ;k NwVk gqvk i`"B vFkok iz'u vkfn u gksA ;fn ,slk gks rks bls lgh ijh{k.k iqfLrdk ls cny 
yhft;sA

	 2-	 mÙkj&i=kd esa lgh LFkku ij ijh{k.k iqfLrdk vuqØe A, B, C ;k D ;FkkfLFkfr Li"V :i ls dwVc¼ dhft;sA 

	 3-	 bl iafDr ds lkFk esa fn;s x, dks"Bd esa vkidks viuk 
vuqØekad fy[kuk gSA ijh{k.k iqfLrdk ij vkSj oqQN u 
fy[ksaA

	 4-	 bl ijh{k.k iqfLrdk esa 100 iz'uka'k (iz'u) fn;s x, gSaA izR;sd iz'uka'k fganh vkSj vaxzs”kh eas Nik gSA izR;sd iz'uka'k 
esa pkj izR;qÙkj (mÙkj) fn;s x, gSaA buesa ls ,d izR;qÙkj dks pqu ysa] ftls vki mÙkj&i=kd ij vafdr djuk pkgrs 
gSaA ;fn vkidks ,slk yxs fd ,d ls vfèkd izR;qÙkj lgh gSa rks ml izR;qÙkj dks vafdr djsa tks vkidks loksZÙke yxsA 
izR;sd iz'uka'k ds fy;s dsoy ,d gh izR;qÙkj pquuk gSA

	 5-	 vkidks vius lHkh izR;qÙkj vyx ls fn;s x, mÙkj&i=kd ij gh vafdr djus gSaA mÙkj&i=kd esa fn;s x, funsZ'k 	
ns[k ysaA

	 6-	 lHkh iz'uksa ds vad leku gSaA

	 7-	 blls igys fd vki ijh{k.k iqfLrdk ds fofHkUu iz'uka'kksa ds izR;qÙkj mÙkj&i=kd ij vafdr djuk 'kq: djsa] vkidks 
izos'k izek.k&i=k ds lkFk izsf"kr vuqns'kksa ds vuqlkj dqN fooj.k mÙkj&i=kd esa nsus gSaA 

	 8-	 vki vius lHkh izR;qÙkjksa dks mÙkj&i=kd esa Hkjus ds ckn rFkk ijh{kk ds lekiu ij dsoy mÙkj&i=kd vèkh{kd dks 
lkSai nsaA vkidks vius lkFk ijh{k.k iqfLrdk ys tkus dh vuqefr gSA

	 9-	 dPps dke ds fy;s dqN i=kd ijh{k.k iqfLrdk ds var esa layXu gSaA

	 10-	 xyr mÙkjksa ds fy;s naM%
		  oLrqfu"B iz'u&i=kksa esa mEehnokj }kjk fn;s x, xyr mÙkjksa ds fy;s naM fn;k tk,xkA
	 (i)	 izR;sd iz'u ds fy;s pkj oSdfYid mÙkj gSaA mEehnokj }kjk izR;sd iz'u ds fy;s fn;s x, ,d xyr mÙkj ds fy;s 

iz'u gsrq fu;r fd;s x, vadksa dk ,d&frgkbZ n.M ds :i esa dkVk tk,xkA
	 (ii)	 ;fn dksbZ mEehnokj ,d ls vfèkd mÙkj nsrk gS] rks bls xyr mÙkj ekuk tk,xk] pkgs fn;s x, mÙkjksa esa ls ,d mÙkj 

lgh gks] ml iz'u ds fy;s mi;qZDrkuqlkj gh naM fn;k tk,xkA
	(iii)	 ;fn mEehnokj }kjk dksbZ iz'u gy ugha fd;k tkrk gS vFkkZr~ mEehnokj }kjk mÙkj ugha fn;k tkrk gS] rks ml iz'u ds 

fy;s dksbZ n.M ugha fn;k tk,xkA

tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

djsaV vQs;lZ VqMs
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	 1.	gky gh esa uhfr vk;ksx us ^Hkkjr ds LokLF; lsok {ks=k esa 
fuos'k ds volj* uked ,d fjiksVZ tkjh dh gSA bl lanHkZ 
esa fuEufyf[kr dFkuksa ij fopkj dhft;s&

	 1.	 Hkkjr viuh bZ”k vkWiQ Mwbax fc”kusl jSafdax esa o"kZ 
2014 esa 142osa LFkku ls Nykax yxkdj o"kZ 2019 
esa 63osa LFkku ij igq¡p x;k gSA

	 2.	 fjiksVZ ds vuqlkj o"kZ 2017&22 ds chp Hkkjr esa 
2-7 fefy;u vfrfjDr ukSdfj;k¡ iSnk gks ldrh gSaA

	 3.	 fjiksVZ esa Hkkjr dh laHkkfor efgyk Jecy Hkkxhnkjh 
dks c<+kok nsus ij è;ku dsafnzr fd;k x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&ls dFku lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	mijksDr lHkh

	 2.	^LFkk;h fla/q vk;ksx* ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s&

	 1.	 gky gh esa Hkkjr vkSj ikfdLrku ds eè; bl vk;ksx 
dh 116oha cSBd ubZ fnYyh esa laiUu gqbZA

	 2.	 ;g vk;ksx ^fla/q ty laf/&1960 ds dk;kZUo;u 
vkSj y{;ksa dks izkIr djus gsrq xfBr fd;k x;kA

	 3-	 laf/ ds vuqlkj iwohZ ufn;ksa (jkoh] O;kl] lryt) 
dk ty ikfdLrku ds fy;s rFkk if'peh ufn;ksa 
(fla/q] >sye] fpukc) dk ty Hkkjr ds fy;s 
fuèkkZfjr fd;k x;kA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2

	 (c)	 dsoy 3	 (d)	dsoy 2 vkSj 3

	 3.	125osa lafo/ku la'kks/u fo/s;d] 2019 ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s&

	 1.	 ;g fo/s;d lafo/ku dh NBh vuqlwph ls lacaf/r 
izko/kuksa esa la'kks/u dk izLrko djrk gSA

	 2.	 ;g vuqlwph ls lacaf/r {ks=kksa esa xzke vkSj uxjikfydk 
ifj"kn dks f”kyk vkSj {ks=kh; ifj"knksa ds lkFk tksM+us 
dk izko/ku djrk gSA

	 3.	 bl fo/s;d ds rgr f”kyk ifj"knksa dks fofHkUu eqíksa 
ij dkuwu cukus dk vf/dkj gksxkA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	1, 2 vkSj 3

	 4.	jk"Vªh; lgc¼ vkSj LokLF; ns[k&js[k o`fÙk vk;ksx fo/s;d] 
2021 ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s&

	 1.	 bl fo/s;d dk mís'; ^lgc¼ vkSj LokLF; lsok 
is'ksojksa* dh f'k{kk vkSj dk;ks± dks fofu;fer ,oa 
ekudhÑr djuk gSA

	 1. 	Recently NITI Aayog has released a report titled 
"Investment Opportunities in India's Healthcare 
Sector". In this context, consider the following 
statements-

	 1.	 India has jumped from 142nd position in 2014 
to 63rd position in 2019 in its Ease of Doing 
Business ranking.

	 2.	 According to the report, 2.7 million additional 
jobs may be created in India between 2017-22.

	 3.	 The report focuses on boosting India's potential 
female labour force participation.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 All of the above
	 2. 	Consider the following statements in the context  

'Permanent Indus Commission'-
	 1.	 Recently the 116th meeting of this commission 

between India and Pakistan was held in New 
Delhi.

	 2.	 This commission was constituted for the 
implementation and to achieve the goals of 
'Indus Water Treaty-1960'.

	 3.	 According to the treaty, the water of the eastern 
rivers (Ravi, Beas, Sutlej) was fixed for 
Pakistan and the water of western rivers (Indus, 
Jhelum, Chenab) was fixed for India.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 and 2 only	 (b)	 2 only
	 (c)	 3 only	 (d)	 2 and 3 only
	 3. 	Consider the following statements in the context of 

125th Constitutional Amendment Bill, 2019-
	 1.	 The Bill proposes to amend the provisions 

relating to the Sixth Schedule of the 
Constitution.

	 2.	 It provides for the integration of village and 
municipal councils with district and regional 
councils in the areas belonging to the Schedule.

	 3.	 Under this bill The District Councils will have 
the power to make laws on various issues.

		  Which of the statement(s) given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 4. 	Consider the following statements in the context  of 

National Commission for Allied and Health Care 
Professions Bill, 2021-

	 1.	 The Bill aims to regulate and standardize the 
education and work of 'allied and healthcare 
professionals'.
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	 2.	 ;g fo/s;d ^lgc¼ LokLF; is'ksoj* dks fdlh 
Hkh chekjh] pksV ;k gkfu ds funku vkSj mipkj 
djus ds fy;s ,d izf'kf{kr lg;ksxh] rduhf'k;u 
;k izkS|ksfxdhfon~ ds :i esa ifjHkkf"kr djrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1, u gh 2

	 5.	gky gh esa yksdlHkk esa fd'kksj U;k; (cPpksa dh ns[kHkky 
,oa laj{k.k) la'kks/u fo/s;d] 2021 ikfjr fd;k x;kA 
bl lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s&

	 1.	 ;g fo/s;d fd'kksj U;k; (cPpksa dh ns[kHkky vkSj 
laj{k.k) vf/fu;e] 2015 esa la'kks/u djrk gSA

	 2.	 fo/s;d esa] fd'kksj U;k; cksMZ ,d cPps ds ckjs 
esa iwNrkN djsxk ftl ij xaHkhj vijk/ dk vkjksi 
gSA

	 3.	 bl fo/s;d esa izLrko fd;k x;k gS fd igys ds 
vf/fu;e ds rgr lHkh vijk/ksa dks cky U;k;ky; 
ds varxZr 'kkfey fd;k tk,A

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	mijksDr lHkh

	 6.	^ukxkySaM ds LFkkuh; ukxfjdksa ds jftLVj* ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s&

	 1.	 ;g jftLVj vkf/dkfjd vfHkys[kksa@fjdkWM~lZ ds 
vkèkkj ij LFkkuh; fuokfl;ksa dh xzkeokj vkSj 
okMZ&okj lwph dh enn ls ,d foLr`r losZ{k.k ds 
ckn rS;kj fd;k tk,xkA

	 2.	 ,d ckj bl jftLVj dk dk;Z iw.kZ gksus ds ckn] 
jkT; ds LFkkuh; fuokfl;ksa ds tUe ds vykok 
fdlh dks Hkh u;k Lons'kh fuoklh izek.k i=k tkjh 
ugha fd;k tk,xkA

	 	mi;qZDr dFkuksa esa dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 7.	jk"Vªh; lqj{kk vf/fu;e] 1980 ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s&

	 1.	 ;g vf/fu;e] ljdkj dks fdlh O;fDr fo'ks"k dks 
iQkWeZy pktZ vkSj fcuk lquokbZ ds fgjklr esa ysus 
dk vf/dkj iznku djrk gSA

	 2.	 ;g vf/fu;e] lafo/ku ds vuqPNsn&21 ds rgr 
izkIr O;fDrxr Lora=krk ij fuokjd fujks/ vkSj 
izfrca/ dh vuqefr iznku djrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 2.	 The Bill defines 'allied health professional' as 
an associate, technician or technologist trained 
to diagnose and treat any disease, injury or 
impairment.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 5. 	Recently, the Juvenile Justice (Care and Protection 
of Children) Amendment Bill, 2021 was passed in 
Lok Sabha. In this context, consider the following 
statements-

	 1.	 The Bill amends the Juvenile Justice (Care and 
Protection of Children) Act, 2015.

	 2.	 In the Bill, the Juvenile Justice Board will 
inquire about a child who is accused of a 
serious offence.

	 3.	 It has been proposed in this bill that all offences 
under the earlier Act should be included under 
Juvenile's Court.

		  Which of the statement(s) given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only

	 (c)	 1 and 3 only	 (d)	 All of the above

	 6. 	Consider the following statements in the context of 
'Register of Local Citizens of Nagaland'-

	 1.	 This register will be prepared after a detailed 
survey with the help of village wise and ward 
wise list of local residents on the basis of 
official inscriptions / records.

	 2.	 Once the work of this register is completed, 
no new Indigenous Resident Certificate will 
be issued to anyone except those born to the 
local residents of the state.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 7. 	With reference to the National Security Act, 1980 
Consider the following statements-

	 1.	 This Act empowers the Government to detain 
a particular person without formal charge and 
without trial.

	 2.	 The Act allows preventive detention and 
restriction on personal liberty enjoyed under 
Article 21 of the Constitution.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	 8.	fuEufyf[kr dFkuksa ij fopkj dhft;s&

	 1.	 Hkkjr esa yksdra=k] 'kklu vkSj pqukoh lq/kj ds fy;s 

o"kZ 2002 ls ,d ^U;w* (NEW) uked jk"VªO;kih 

vfHk;ku py jgk gSA

	 2.	 ^us'kuy bysD'ku okWp* vkSj ^,lksfl,'ku vkWiQ 

MseksØsfVd fjiQkWElZ* ds vuqlkj vle] dsjy 

iqnqPpsjh] rfeyukMq vkSj if'pe caxky ds 

foèkkulHkk pqukoks a es a 1157 mEehnokjks a ij 

vkijkf/d ekeys n”kZ gSaA

	 3.	 Hkkjrh; lafo/ku laln ;k fo/kulHkkvksa ds fy;s 

pquko yM+us okys fdlh vkijkf/d izo`fÙk ds O;fDr 

dh v;ksX;rk ds fo"k; esa mica/ djrk gSA

	 4.	 yksd izfrfuf/Ro vf/fu;e] 1951 esa fo/kf;dk 

dk pquko yM+us ds fy;s fdlh O;fDr dks v;ksX; 

?kksf"kr djus ds ekunaMksa dk mYys[k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1, 2 vkSj 4	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 2, 3 vkSj 4	 (d)	mijksDr lHkh

	 9.	dsanzh; lrdZrk vk;ksx ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s&

	 1.	 ;g vk;ksx jk"Vªh; Lrj ij Hkz"Vkpkj ij vadq'k 

yxkus gsrq izeq[k laLFkkvksa eas ls ,d gSA

	 2.	 vk;ksx esa ,d dsanzh; lrdZrk vk;qDr (vè;{k) 

rFkk vf/dre nks lrdZrk vk;qDr (lnL;) 'kkfey 

gksrs gSaA

	 3.	 gky gh esa vk;ksx us ljdkjh laxBuksa dh lrdZrk 

bdkb;ksa esa vf/dkfj;ksa ds dk;Zdky dks fdlh ,d 

LFkku ij rhu o"kZ rd lhfer dj fn;k gSA

	 	mi;qZDr dFkuksa eas ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1

	 (c)	 dsoy 3	 (d)	1, 2 vkSj 3

	 10.	jk"Vªh; volajpuk foÙkiks"k.k vkSj fodkl cSad fo/s;d] 

2021 ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s&

	 1.	 fo/s;d dk mís'; cqfu;knh <k¡ps ds foÙkiks"k.k dh 
”k:jrksa dks iwjk djus ds fy;s ,d izeq[k fodkl 
foÙkh; laLFkku ds rkSj ij jk"Vªh; volajpuk 

foÙkiks"k.k vkSj fodkl cSad dh LFkkiuk djuk gSA

	 2.	 jk"Vªh; voljapuk foÙkiks"k.k vkSj fodkl cSad dh 

?kks"k.kk ctV 2021 esa dh xbZ FkhA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 8. 	Consider the following statements-
	 1.	 A nationwide campaign called 'NEW' is going 

on since 2002 for democracy, governance and 
electoral reforms in India.

	 2.	 According to the 'National Election Watch' and 
'Association of Democratic Reforms', 1157 
candidates in the assembly elections in Assam, 
Kerala, Puducherry, Tamil Nadu and West 
Bengal have criminal cases against them.

	 3.	 The Constitution of India provides for the 
disqualification of a person of criminal nature 
to contest elections to Parliament or assemblies.

	 4.	 The Representation of the People Act, 1951 
lays down the criteria for disqualifying a 
person to contest the election to the legislature.

		  Which of the statements given above are correct?
	 (a)	 1, 2 and 4 only	 (b)	 2 and 3 only
	 (c)	 2, 3 and 4 only	 (d)	 All of the above
	 9. 	Consider the following statements in the context 

'Central Vigilance Commission'-
	 1.	 This commission is one of the major 

institutions to check corruption at the national 
level.

	 2.	 The Commission consists of a Central 
Vigilance Commissioner (Chairman) and not 
more than two Vigilance Commissioners 
(Members).

	 3.	 Recently the Commission has restricted the 
tenure of officers in Vigilance Units of 
Government Organizations to three years at 
any one place.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 and 2 only	 (b)	 1 only
	 (c)	 3 only	 (d)	 1, 2 and 3
	 10. 	Consider the following statements in the context of  

National Infrastructure Financing and Development 
Bank Bill, 2021-

	 1.	 The objective of the Bill is to establish the 
National Infrastructure Financing and 
Development Bank as a premier development 
financial institution to meet the infrastructure 
financing needs.

	 2.	 The National Infrastructure Financing and 
Development Bank was announced in the 
Budget 2021.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	 11.	^,f'k;k ,oa iz'kkar dk vkfFkZd o lkekftd losZ{k.k] 2021* 
ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s&

	 1.	 fjiksVZ ds vuqlkj Hkkjr dh vkfFkZd o`f¼ nj o"kZ 
2021&22 esa 7 izfr'kr jgus dk vuqeku gSA

	 2.	 dksfoM&19 egkekjh dk izdksi 'kq: gksus ls igys 
gh Hkkjr esa ldy ?kjsyw mRikn dh o`f¼ ,oa fuos'k 
/hek iM+ pqdk FkkA

	 3-	 ,f'k;k iz'kkar dh fodkl'khy vFkZO;oLFkkvksa dh 
o"kZ 2021 esa vkSlru o`f¼ nj 2 izfr'kr vkSj o"kZ 
2022 esa 3 izfr'kr jgus dh mEehn trkbZ xbZ gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2

	 (c)	 dsoy 3	 (d)	dsoy 2 vkSj 3

	 12.	fo'o vkfFkZd ifjǹ'; fjiksVZ] 2021 ds lanHkZ esa fuEufyf[kr 
dFkuksa esa ls dkSu&lk lgh ugha gS\

	 (a)	 gky gh esa ̂ fo'o cSad* }kjk fo'o vkfFkZd ifjn`'; 
2021] fjiksVZ tkjh dh xbZA

	 (b)	 fjiksVZ ds vuqlkj Hkkjr dh o`f¼ nj foÙk o"kZ 2021 
esa 12-5 izfr'kr jgus dk vuqeku gSA

	 (c)	 phu ,dek=k izeq[k vFkZO;oLFkk Fkh ftlus o"kZ 
2020 esa 2-3 izfr'kr dh ldkjkRed o`f¼ nj cuk, 
j[khA

	 (d)	 fjiksVZ ds vuqlkj o"kZ 2021 vkSj o"kZ 2022 esa 
fo'o dh fodkl nj Øe'k% 6 izfr'kr vkSj 4-4 
izfr'kr jgus ds dkj.k ,d e”kcwr vkfFkZd fjdojh 
dh laHkkouk O;Dr dh xbZ gSA

	 13.	oYMZ MsoyiesaV fjiksVZ&2021 ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s&

	 1.	 gky gh esa fo'o cSad }kjk ¶oYMZ MsoyiesaV 
fjiksVZ&2021% MsVk iQkWj csVj ykbOl¸ dk izdk'ku 
fd;k x;kA

	 2.	 fjiksVZ esa fodkl ds fy;s MsVk dh 'kfDr dk nksgu 
djus gsrq ,d CywfizaV iznku fd;k x;k gSA

	 3.	 fo'o cSad }kjk oSf'od xjhch ds vkdyu ij 
fpark O;Dr dh xbZ tks xjhch ij Hkkjr esa MsVk ds 
vHkko ds dkj.k fo"ke fLFkfr iSnk djrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	1, 2 vkSj 3

	 14.	gky gh esa Hkkjrh; fj”koZ cSad us pj.kc¼ rjhds ls Hkqxrku 
iz.kkyh lapkydksa dks RTGS vkSj NEFT esa izR;{k lnL;rk 
ysus dh vuqefr nh gSA bl lanHkZ esa fuEufyf[kr esa ls 
dkSu&lk@ls dFku lgh ugha gS@gSa\

	 1.	 RTGs vkSj NEFT Hkkjrh; fj”koZ cSad ds dsanzh;Ñr 
Hkqxrku iz.kkyh ds vax ugha gSaA

	 11. 	With reference to the 'Economic and Social Survey 
of Asia and the Pacific, 2021' Consider the following 
statements-

	 1.	 According to the report, India's economic 
growth rate is estimated to be 7% in the year 
2021-22.

	 2.	 Even before the outbreak of the COVID-19 
pandemic, India's GDP growth and investment 
had slowed down.

	 3.	 The developing economies of Asia Pacific are 
expected to grow at an average rate of 2% in 
2021 and 3% in 2022.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 and 2 only	 (b)	 2 only
	 (c)	 3 only	 (d)	 2 and 3 only
	 12. 	Which of the following statements is not correct in 

the context of  World Economic Outlook Report, 
2021?

	 (a)	 Recently the World Economic Outlook 2021, 
report was released by the 'World Bank'.

	 (b)	 According to the report, India's growth rate is 
estimated to be 12.5% in FY 2021.

	 (c)	 China was the only major economy to maintain 
a positive growth rate of 2.3 percent in 2020.

	 (d)	 According to the report, there is a possibility 
of a strong economic recovery in the year 2021 
and the year 2022 due to the world's growth 
rate of 6% and 4.4% respectively.

	 13. 	Consider the following statements in the context of 
World Development Report-2021-

	 1.	 Recen t ly  the  "Wor ld  Deve lopment 
Report-2021: Data for Better Lives" was 
published by the World Bank.

	 2.	 The report provides a blueprint for harnessing 
the power of data for development.

	 3.	 Concern was expressed over the assessment 
of global poverty by the World Bank which 
creates anomalous situation due to lack of data 
on poverty in India.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 14. 	Recently the Reserve Bank of India has allowed 

payment system operators to take direct subscription 
to RTGS and NEFT in a phased manner. Which of 
the following statement(s) is/are not correct in this 
context?

	 1.	 RTGS and NEFT are not part of centralized 
payment system of Reserve Bank of India.
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	 2.	 ;g foÙkh; iz.kkyh esa fuiVku tksf[ke dks de djus 
vkSj lHkh mi;ksxdÙkkZvksa rd fMftVy foÙkh; 
lsokvksa dh igq¡p c<+kus dk iz;kl djsxkA

	 3.	 vkj-ch-vkbZ- }kjk fofu;fer xSj&cSad Hkqxrku iz.kkyh 
vkWijsVjksa dks] dsanzh;Ñr Hkqxrku iz.kkyh esa izR;{k 
lnL;rk ysus dh vuqefr gksxhA

	 	uhps fn;s x;s dwV dk iz;ksx dj lgh mÙkj pqfu;s%
	 (a)	 dsoy 1	 (b)	dsoy 1 vkSj 3

	 (c)	 dsoy 2	 (d)	dsoy 2 vkSj 3

	 15.	oSf'od U;wure dkWiksZjsV dj ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s&

	 1.	 gky gh esa vesfjdh Vsªtjh lfpo us G-20 ns'kksa ls 
oSf'od U;wure dkWiksZjsV dj dh vksj c<+us dk 
vkxzg fd;k gSA

	 2.	 vesfjdh izLrko esa 21 izfr'kr U;wure dkWiksZjsV dj 
dh ifjdYiuk dh xbZ gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1, u gh 2

	 16.	eksVs vuktksa ds fMaMksjh ekWMy ds lanHkZ eas fuEufyf[kr 
dFkuksa ij fopkj dhft;s&

	 1.	 Ñf"k fodkl ds fy;s varjkZ"Vªh; dks"k }kjk o"kZ 
2013&14 esa eè; izns'k ds fMaMksjh f”kys esa ;g 
igy 'kq: dh xbZA

	 2.	 ;g dksnks vkSj dqVdh (eksVs vukt) tSlh iQlyksa 
dh [ksrh dks iquthZfor djus dk iz;kl gSA

	 3.	 bl ifj;kstuk dks efgyk fdlkuksa ds lkFk 'kq: 
fd;k x;k] ftlesa ”;knkrj xksaM vkSj cSxk tutkfr;ksa 
dh efgyk fdlku 'kkfey FkhaA

	 4.	 blls iks"k.k laca/h y{;ksa dks iwjk djus esa enn 
feyh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1, 2 vkSj 3	 (b)	dsoy 2, 3 vkSj 4

	 (c)	 dsoy 1, 3 vkSj 4	 (d)	mijksDr lHkh

	 17.	gky gh esa Hkkjr ds fons'k ea=kh us fcElVsd dh l=kgoha 
eaf=kLrjh; cSBd esa fgLlk fy;kA bl lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s&

	 1.	 Hkkjr dh vè;{krk esa ;g cSBd opqZvy ekè;e 
ls vk;ksftr dh xbZ FkhA

	 2.	 cSBd esa Hkkjr }kjk vkradokn] Vªkal&us'kuy Økbe] 
ifjogu ,oa lapkj] i;ZVu vkSj i;kZoj.k rFkk vkink 
izca/u vkfn fofHkUu {ks=kksa esa gqbZ izxfr dks js[kkafdr 
fd;k x;kA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1, u gh 2

	 2.	 It will seek to reduce settlement risk in the 
financial system and increase the accessibility 
of digital financial services to all users.

	 3.	 Non-bank payment system operators, regulated 
by RBI, will be allowed to take direct 
subscription to the centralized payment 
system.

		  Select the correct answer using the codes given below:
	 (a)	 1 only	 (b)	 1 and 3 only
	 (c)	 2 only	 (d)	 2 and 3 only
	 15. 	Consider the following statements in the context of 

Global Minimum Corporate Tax-
	 1.	 Recently the US Treasury Secretary has urged 

the G-20 countries to move towards a global 
minimum corporate tax.

	 2.	 The US proposal envisages a minimum 
corporate tax of 21%.

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 16. 	Consider the following statements in the context of  

Dindori model of coarse cereals:
	 1.	 This initiative was started by the International 

Fund for Agricultural Development in the year 
2013-14 in Dindori district of Madhya 
Pradesh.

	 2.	 It is an attempt to revive the cultivation of crops 
like Kodo millet and Kutki (coarse cereals).

	 3.	 The project was started with women farmers, 
in which mostly women farmers of Gond and 
Baiga tribes were involved.

	 4.	 This helped in meeting the nutritional goals.
		  Which of the statements given above are correct?
	 (a)	 1, 2 and 3 only	 (b)	 2, 3 and 4 only
	 (c)	 1, 3 and 4 only	 (d)	 All of the above
	 17. 	Recently, the External Affairs Minister of India 

participated in the 17th Ministerial Meeting of 
BIMSTEC. In this context, consider the following 
statements-

	 1.	 This meeting was held under the chairmanship 
of India through virtual medium.

	 2.	 In the meeting, the progress made by India in 
various areas like terrorism, trans-national 
crime, transport and communication, tourism 
and environment and disaster management was 
underlined.

		  Which of the statements given  above is/are not 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	 18.	gky gh esa E-9 ns'kksa dh cSBd vk;ksftr dh xbZA bl 
lewg esa 'kkfey ns'k gSa&

	 1.	 ckaXykns'k	 2.	czk”khy

	 3.	 phu	 4.	Hkkjr

	 5.	 ukb”khfj;k	 6.	usiky

	 	uhps fn;s x;s dwV dk iz;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1, 3 vkSj 4

	 (b)	 dsoy 1, 2, 3, 4 vkSj 5

	 (c)	 dsoy 2, 3, 5 vkSj 6

	 (d)	 mijksDr lHkh

	 19.	;wjksih; la?k vkSj fgan&iz'kkar {ks=k ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s&

	 1.	 gky gh esa ;wjksih; la?k us fgan&iz'kkar {ks=k esa lg;ksx 
ds fy;s vius j.kuhfrd fu"d"kZ dks eatwjh iznku 
dh gSA

	 2.	 fgan iz'kkar] vÚhdk ds if'peh rV ls ysdj iz'kkar 
ds }hih; jkT;ksa rd dk {ks=k gSA

	 3.	 ;wjksih; la?k dk mís'; bl {ks=k esa c<+rh pqukSfr;ksa 
vkSj ruko ds le; {ks=kh; fLFkjrk] lqj{kk] le`f¼ 
rFkk LFkk;h fodkl esa ;ksxnku nsuk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2

	 (c)	 dsoy 1	 (d)	dsoy 1 vkSj 3

	 20.	gkfy;k phu&bZjku lkefjd lg;ksx le>kSrs ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s&

	 1.	 ;g phu vkSj bZjku ds eè; ifjogu] canjxkgksa 
ÅtkZ] m|ksx vkSj lsokvksa ds {ks=k esa ikjLifjd 
fuos'k gsrq ,d [kkdk rS;kj djsxkA

	 2.	 ;g phu ds csYV vkSj jksM bfuf'k,fVo ds ,d 
fgLls dk fuekZ.k djrk gSA

	 3.	 ;g le>kSrk 15 o"kks± gsrq fd;k x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2

	 (c)	 dsoy 1	 (d)	dsoy 2 vkSj 3

	 21.	fuEufyf[kr dFkuksa ij fopkj dhft;s&

	 1.	 ^baVjus'kuy ukWFkZ&lkmFk VªkaliksVZ dkWfjMksj* lnL; 
jkT;ksa ds chp ifjogu lg;ksx dks c<+kok nsus ds 
mís'; ls bZjku] :l vkSj Hkkjr }kjk flracj 2000 
esa lsaV ihVlZcxZ esa LFkkfir ,d eYVh ekWMy ifjogu 
ekxZ gSA

	 2.	 psUubZ&OykfnoksLrksd iwohZ leqnzh xfy;kjk] Hkkjr 
vkSj :l ds chp yxHkx 5,600 leqnzh ehy yack 
,d leqnzh ekxZ gSA

	 18. 	Recently a meeting of E-9 countries was held. The 
countries included in this group are-

	 1.	 Bangladesh	 2.	 Brazil
	 3.	 China 	 4.	 India
	 5.	 Nigeria 	 6.	 Nepal
		  Select the correct answer using the code given below:
	 (a)	 1, 3 and 4 only
	 (b)	 1, 2, 3, 4 and 5 only
	 (c)	 2, 3, 5 and 6 only
	 (d)	 All of the above.
	 19. 	Consider the following statements in the context of 

European Union and the Indo-Pacific region-
	 1.	 Recently the European Union has approved its 

strategic conclusion for cooperation in the 
Indo-Pacific region.

	 2.	 The Indo-Pacific is the region from the west 
coast of Africa to the island states of the 
Pacific.

	 3.	 The EU aims to contribute to regional stability, 
securi ty,  prosperi ty  and sustainable 
development at a time of increasing challenges 
and tensions in the region.

		  Which of the statements given above is/are not 
correct?

	 (a)	 1 and 2 only	 (b)	 2 only
	 (c)	 1 only	 (d)	 1 and 3 only
	 20. 	Consider the following statements in the context of 

recent Sino-Iran Strategic Cooperation Agreement-
	 1.	 It will prepare a roadmap for mutual investment 

between China and Iran in the fields of 
transportation, ports, energy, industry and 
services.

	 2.	 It forms a part of China's Belt and Road 
Initiative. 

	 3.	 This agreement has been done for 15 years.
		  Which of the statements given above is/are correct?
	 (a)	 1 and 2 only	 (b)	 2 only
	 (c)	 1 only	 (d)	 2 and 3 only
	 21. 	Consider the following statements-
	 1.	 The 'International North-South Transport 

Corridor' is a multi-modal transport route 
established in September 2000 in St. Petersburg 
by Iran, Russia and India with the aim of 
promoting transport cooperation between 
member states.

	 2.	 The Chennai-Vladivostok Eastern Sea Corridor 
is a sea route between India and Russia, which 
is approximately 5,600 nautical miles long.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 22.	fuEufyf[kr dFkuksa ij fopkj dhft;s&

	 1.	 gky gh esa vesfjdk ds ,d ;q¼iksr us Hkkjr ds 
vuU; vkfFkZd {ks=kksa esa Hkkjr dh iwoZ lgefr ds 
fcuk ^ÚhMe vkWiQ usfoxs'ku* vfHk;ku dks vatke 
fn;k gSA

	 2.	 ^ÚhMe vkWiQ usfoxs'ku* ds varxZr vesfjdh ukSlsuk 
rVorhZ ns'kksa ds vuU; vkfFkZd {ks=kksa esa tyekxZ 
cukus dk iz;kl djrh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 23.	^fulkj fe'ku* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s&

	 1.	 ;g uklk vkSj bljks dk la;qDr fe'ku gSA

	 2.	 blesa ̂ fulkj* uked mixzg dks o"kZ 2030 esa varfj{k 
esa Hkstk tk,xkA

	 3.	 ;g mixzg ,d Vsful dksVZ ds yxHkx vk/s {ks=k 
esa 0.4 bap ls Hkh NksVh fdlh oLrq dh xfrfof/ 
dk voyksdu djus esa l{ke gksxkA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1 vkSj 3

	 (c)	 dsoy 2 vkSj 3	 (d)	mijksDr lHkh

	 24.	^Mcy E;wVsaV dksjksuk ok;jl* ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s&

	 1.	 egkekjh ds izlkj dks izHkkfor djus okys bl ̂ Mcy 
E;wVsaV* ok;jl dks vkSipkfjd :i ls B-1.617 ds 
:i esa oxhZÑr fd;k x;k gSA

	 2.	 Hkkjrh; lklZ&dkso&2 thuksfed dalksfVZ;k }kjk pkj 
jkT;ksa esa ok;jl ds uewuksa ds thukse vuqØe.k ds 
nkSjku ,d lkFk nks E;wVsaV&E484Q vkSj L452R 
dh mifLFkfr dk irk pyk gSA

	 3.	 vc rd dsoy nks oSf'od osfj,aV vkWiQ daluZ dh 
igpku dh xbZ gSA

	 	mi;qZDr dFkuksa eas ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2

	 (c)	 dsoy 3	 (d)	dsoy 2 vkSj 3

	 25.	fyfFk;e vk;u cSVjh ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s&

	 1.	 ^fyfFk;e&vk;u cSVjh ;k ^yh&vk;u* cSVjh ,d 
izdkj dh fjpktsZcy cSVjh gS tks vf/dka'k iksVsZcy 
midj.kksa dks 'kfDr iznku djrh gSA

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 22. 	Consider the following statements-
	 1.	 Recently a US warship has carried out the 

'Freedom of Navigation' campaign in India's 
exclusive economic zones without India's prior 
consent.

	 2.	 Under the 'Freedom of Navigation', the US 
Navy attempts to build waterways in the 
exclusive economic zones of the coastal 
countries.

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2.

	 23. 	With reference to 'Nisar Mission' Consider the 
following statements-

	 1.	 It is a joint mission of NASA and ISRO. 

	 2.	 In this, a satellite named 'Nisar' will be sent to 
space in the year 2030.

	 3.	 This satellite will be able to observe the 
movement of objects even smaller than 0.4 
inches in about half the area of a tennis court.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 1 and 3 only

	 (c)	 2 and 3 only	 (d)	 All of the above

	 24. 	Consider the following statements in the context of 
'Double mutant corona virus'-

	 1.	 This 'double mutant' virus affecting the spread 
of the pandemic is formally classified as 
B-1.617.

	 2.	 The presence of two mutants-E484Q and 
L452R simultaneously have been detected 
during genome sequencing of virus samples 
in four states by the Indian SARS-Cov-2 
Genomic Consortia.

	 3.	 So far only two global variants of concern have 
been identified.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 and 2 only	 (b)	 2 only

	 (c)	 3 only	 (d)	 2 and 3 only

	 25. 	Consider the following statements in the context of 
Lithium Ion battery-

	 1.	 A 'lithium-ion battery' or 'Li-ion' battery is a 
type of rechargeable battery that powers most 
portable devices.



9lkekU; vè;;u

(General Studies)

eSx”khu VsLV

(Magazine Test)

641] çFke ry] eq[kthZ uxj] fnYyh&110009
nwjHkk"k% 8750187501, 011-47532596

bZ&esy% helpline@groupdrishti.com, osclkbV% www.drishtiIAS.com
isQlcqd% https://www.facebook.com/drishtithevisionfoundation

 Copyright –  Drishti The Vision Foundation

	 2.	 vkbZ-vkbZ-Vh- xqokgkVh ds 'kks/dÙkkZvksa us ,d ,slh 
rduhd fodflr dh gS tks cSVjh dh vkarfjd 
voLFkkvksa esa ls ,d vkSj lcls egÙoiw.kZ ^LVsV 
vkWiQ pktZ* dk lVhd vuqeku yxk ldrh gSA

	 3.	 fyfFk;e&vk;u cSVjh izkS|ksfxdh bysfDVªd vkSj 
gkbfczM bysfDVªd okguksa ds fy;s ilanhnk ÅtkZ 
Ïksr cu xbZ gSA

	 	uhps fn;s x;s dwV dk iz;ksx dj lgh mÙkj pqfu;s&

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	mijksDr lHkh

	 26.	Hkkjr dk jk"Vªh; baVjusV ,Dlpsat ds lanHkZ esa fuEufyf[kr 
dFkuksa esa ls dkSu&lk lgh ugha gS\

	 (a)	 ;g laLFkk baVjusV dh cqfu;knh volajpuk rd 
Hkkjr ds ukxfjdksa dh igq¡p LFkkfir djus gsrq o"kZ 
2003 ls dk;Zjr gSA

	 (b)	 IPv4 ls IPv6 rd lqxe LFkkukarj.k lqfuf'pr 
djus rFkk mls viukus gsrq mfpr okrkoj.k ds 
fuekZ.k esa ;g laLFkk lgk;d lkfcr gks ldrh gSA

	 (c)	 bysDVªkWfuDl vkSj lwpuk izkS|ksfxdh ea=kky; us bl 
laLFkk dh ik¡p ubZ lsokvksa@igyksa dk vukoj.k fd;k 
gSA

	 (d)	 Hkkjr ds jk"Vªh; baVjusV ,Dlpsat us baVjusV dE;qfuVh 
ds fy;s ,d IPv6 baMsDl iksVZy fodflr fd;k 
gSA

	 27.	^,iksfiQl* {kqnzxzg ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s&

	 1.	 ,iksfiQl i`Foh ds fudV ,d {kqnzxzg gS] ftldk 
vkdkj rqyukRed :i ls dkiQh cM+k yxHkx 335 
ehVj gSA

	 2.	 05 ekpZ] 2021 dks ;g {kqnzxzg i`Foh ls yxHkx 
17 fefy;u fdeh- dh nwjh ls xqtjk gSA

	 3.	 bl {kqnzxzg dk uke izkphu feÏ ds nsork ds uke 
ij j[kk x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3

	 28.	gky gh esa n ,uthZ ,aM fjlkslsZ”k baLVhV~;wV (TERI) vkSj 
'ksy (Shell) us ^Hkkjr% VªkaliQkWfe±x Vw , usV ”khjks ,fe'ku 
,uthZ flLVe* uked ,d fjiksVZ tkjh dh gSA bl lanHkZ 
esa fuEufyf[kr dFkuksa ij fopkj dhft;s&

	 1-	 ;g fjiksVZ Hkkjr dh ?kjsyw ÅtkZ iz.kkyh dks lrr~ 
vkfFkZd fodkl ds mís';ksa dks izkIr djrs gq, 2050 
rd usV ”khjks mRltZu dh vksj ys tkus dk ekxZ 
iz'kLr djrh gSA

	 2.	 Researchers at IIT Guwahati have developed 
a technology that can accurately predict one 
of the most important and most important of 
the battery's internal states, the 'state of charge'.

	 3.	 Lithium-ion battery technology has become 
the preferred energy source for electric and 
hybrid electric vehicles.

		  Select the correct answer using the code given below-
	 (a)	 1 and 2 only	 (b)	 2 and 3 only

	 (c)	 1 and 3 only	 (d)	 All of the above

	 26. 	Which one of the following statements is not correct 
in the context of  National Internet Exchange of India?

	 (a)	 This organization is working since the year 
2003 to establish the access of the citizens of 
India to the basic infrastructure of the Internet.

	 (b)	 This organization can prove to be helpful in 
creating the right environment to ensure 
smooth migration and adoption from IPv4 to 
IPv6.

	 (c)	 Ministry of Electronics and Information 
Technology has unveiled five new services/
initiatives of this institution.

	 (d)	 India's National Internet Exchange has 
developed an IPv6 index portal for the Internet 
community.

	 27.	  Consider the following statements in the context of 
asteroid 'Apophis'-

	 1.	 Apophis is a near-Earth asteroid, whose 
comparatively large size is about 335 meters.

	 2.	 On March 05, 2021, this asteroid has passed a 
distance of about 17 million km from Earth.

	 3.	 This asteroid is named after an ancient 
Egyptian god.

		  Which of the statements given above are correct?

	 (a)	 1 and 2 only	 (b)	 2 and 3 only

	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 28. 	Recently, The Energy and Resources Institute (TERI) 
and Shell have released a report titled India: 
Transforming to a Net Zero Emission Energy System. 
In this context, consider the following statements-

	 1.	 This report paves the way for India's domestic 
energy system to move towards net zero 
emissions by 2050, achieving the objectives 
of sustainable economic development.
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	 2-	 Hkkjr dks bl {ks=k esa usV ”khjks y{; izkIr djus ds 
fy;s vius fo|qr feJ.k esa uohdj.kh; ÅtkZ dh 
fgLlsnkjh 90» rd c<+kuh gksxhA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 29.	gky gh esa fo'o ekSle foKku laxBu us o"kZ 2020 ds 
fy;s viuh okf"kZd ^oSf'od tyok;q fLFkfr fjiksVZ* tkjh 
dh gSA bl lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s&

	 1.	 fjiksVZ ds vuqlkj o"kZ 2020] yk&uhuk dh fLFkfr 
ds ckotwn vc rd ds rhu lcls xeZ o"kks± esa ls 
,d FkkA

	 2.	 o"kZ 2012 vkSj o"kZ 2013 vU; nks lcls xeZ o"kZ 
FksA

	 3.	 Hkkjr us o"kZ 1994 ds ckn ls lcls vf/d ue 
ekulwu dk vuqHko fd;k gS] ftlesa xaHkhj ck<+ vkSj 
HkwL[kyu dh fLFkfr ns[kh xbZ gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2

	 (c)	 dsoy 3	 (d)	dsoy 1 vkSj 3

	 30.	^jk"Vªh; tyok;q Hks|rk vkdyu fjiksVZ* ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s&

	 1.	 fjiksVZ esa orZeku tyok;q laca/h tksf[keksa vkSj 
lqHks|rk ds izeq[k pkydksa ds fygk”k ls Hkkjr ds 
lcls laosnu'khy jkT;ksa vkSj f”kyksa dh igpku dh 
xbZ gSA

	 2.	 tyok;q ifjorZu dh n`f"V ls laosnu'khy ekus tkus 
okys jkT;ksa esa ls dsjy] fgekpy vkSj v#.kkpy 
izns'k ds 60 izfr'kr ls vf/d f”kys vfr 
laosnu'khy f”kyksa dh Js.kh esa gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 31.	 gky gh esa vksfM'kk ljdkj }kjk MkWfYiQu tux.kuk ls 
lacafèkr vafre vk¡dM+s çdkf'kr fd;s x,A bl lanHkZ esa 
fuEufyf•r dFkuksa ij fopkj dhft;s&

	 1.	 tux.kuk ds vuqlkj] fpYdk >hy esa MkWfYiQu dh 
vkcknh fiNys o"kZ dh rqyuk esa o"kZ 2021 esa nksxquh  
gks xbZ gSA

	 2.	 MkWfYiQu x.kuk] bldh nks çtkfr;ksa bjkonh MkWfYiQu 
vkSj ckWVyukst MkWfYiQu ij dh xbZA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2

	 2.	 India needs to increase the share of renewable 
energy in its electricity mix to 90% to achieve 
the net zero target in this sector.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 29. 	Recently the World Meteorological Organization has 
released its annual 'Global Climate Status Report' for 
the year 2020. In this context, consider the following 
statements-

	 1.	 According to the report, the year 2020 was one 
of the three warmest years ever, irrespective 
of La Nia conditions.

	 2.	 The year 2012 and the year 2013 were the other 
two warmest years.

	 3.	 India has experienced the wettest monsoon 
since 1994, which has seen severe flooding 
and landslides.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 and 2 only	 (b)	 2 only

	 (c)	 3 only	 (d)	 1 and 3 only

	 30. 	Consider the following statements in the context of 
'National Climate Vulnerability Assessment Report'-

	 1.	 The report identifies India's most vulnerable 
states and districts in terms of current climate-
related risks and key drivers of vulnerability.

	 2.	 Out of the states considered vulnerable to 
climate change, more than 60% of the districts 
of Kerala, Himachal and Arunachal Pradesh 
are in the category of highly vulnerable 
districts.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 31. 	Recently the final data related to the dolphin census 
was published by the Odisha government. In this 
context, consider the following statements-

	 1.	 According to the census, the population of 
dolphins in Chilika Lake has doubled in the 
year 2021 as compared to the previous year.

	 2.	 Dolphin census was done on two species of 
Irrawaddy dolphin and bottlenose dolphin.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2



11lkekU; vè;;u

(General Studies)

eSx”khu VsLV

(Magazine Test)

641] çFke ry] eq[kthZ uxj] fnYyh&110009
nwjHkk"k% 8750187501, 011-47532596

bZ&esy% helpline@groupdrishti.com, osclkbV% www.drishtiIAS.com
isQlcqd% https://www.facebook.com/drishtithevisionfoundation

 Copyright –  Drishti The Vision Foundation

	 32.	 fuEufyf[kr dFkuksa ij fopkj dhft;s& 
	 1. 	 varjkZ"Vªh; çÑfr laj{k.k la?k }kjk vizQhdh ou 

gkFkh vkSj vizQhdh lokuk gkfFk;ksa dks Øe'k% ̂ xaHkhj 
:i ls ladVxzLr* vkSj ^ladVxzLr* ?kksf"kr fd;k 
x;k gSA

	 2.	 blls igys vizQhdh gkfFk;ksa dks ,d gh çtkfr ds 
:i esa ekudj lqHks| çtkfr ds :i esa lwphc¼ 
fd;k x;k FkkA

	 3.	 vkbZ-;w-lh-,u- dh jsM fyLV esa igyh ckj budks 
nks vyx&vyx çtkfr;ksa ds :i esa fpfÉr fd;k 
x;k gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1 vkSj 2 	 (b)	 dsoy 2 vkSj 3 

	 (c)	 dsoy 1 vkSj 3	 (d)	 1] 2 vkSj 3 

	 33.	 yk lkWiQfj;j Tokykeq•h ds lanHkZ esa fuEufyf•r dFkuksa 
ij fopkj dhft;s&

	 1.	 ;g dSjsfc;kbZ }hi ds lsaV foalsV ,aM xzsusMkbal esa 
vofLFkr ,d lfØ; Tokykeq•h gSA 

	 2.	 gky gh esa bl Tokykeq•h ls gq, foLiQksV ls 
mRlftZr lYiQj MkbZ vkWDlkbM Hkkjr esa igq¡p x;k 
gS] ftlls ns'k ds mÙkjh fgLlksa esa iznw"k.k esa o`f¼ 
vkSj vEyh; o"kkZ gksus dk Mj cuk gqvk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2 

	 34.	 vaVkdZfVdk ds MwElMs Xysf'k;j ds lanHkZ esa fuEufyf•r 
dFkuksa ij fopkj dhft;s&

	 1.	 gky gh esa LohMu dh ;wfuo£lVh vkWiQ xksFksucxZ 
ds 'kksèkdÙkkZvksa us bl Xysf'k;j ds ry ls MsVk 
çkIr djus esa liQyrk çkIr dh gSA

	 2.	 orZeku esa MwElsM Xysf'k;j ds fi?kyus ls çfro"kZ 
oSf'od leqnz ry ds Lrj esa 2 izfr'kr dh o`f¼ 
gks jgh gSA

	 3.	 vaVkdZfVdk ds fy;s FokbV~l ;k MwElMs Xysf'k;j 
vR;f/d egRoiw.kZ gS D;ksafd ;g vius ihNs ekStwn 
Lora=k :i ls leqæ esa cgus okys Xysf'k;jksa dks Hkh 
vkxs c<+us ls jksdrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2

	 (c)	 dsoy 1	 (d)	 dsoy 2 vkSj 3 

	 35.	 fuEufyf•r dFkuksa ij fopkj dhft;s& 
	 1.	 ih,e 10 vkSj ih,e 2-5 vkdkj okys d.kksa dks 

/wy ds d.k ds :i esa oxhZÑr fd;k tkrk gSA

	 2.	 /wyd.kksa dks ekulwu vkSj rwiQku dks çHkkfor djus 
ds lkFk&lkFk o"kkZ ouksa dks fu"ksfpr djus ;k mitkÅ 
cukus ds fy;s Hkh tkuk tkrk gSA

	 32. 	Consider the following statements-
	 1.	 The African forest elephant and the African 

savanna elephant have been declared 'critically 
endangered' and 'endangered' respectively by 
the International Union for Conservation of 
Nature.

	 2.	 Earlier African elephants were listed as 
Vulnerable Species by treating them as a single 
species.

	 3.	 For the first time in the IUCN Red List, they 
have been identified as two separate species.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only

	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 33. 	Consider the following statements with reference to 
'La Soufriere Volcano'-

	 1.	 It is an active volcano located in the Caribbean 
island of Saint Vincent and the Grenadines.

	 2.	 Sulphur dioxide emitted by the recent eruption 
of this volcano has reached India, causing 
increase in pollution and fear of acid rain in 
the northern parts of the country.

		  Which of the statement(s) given above are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 34. 	Consider the following statements in the context of 
Dooms Day Glacier in Antarctica-

	 1.	 Recently researchers from the University of 
Gothenburg, Sweden have succeeded in 
obtaining data from the bottom of this glacier.

	 2.	 The melting of the Doomsday Glacier is 
currently causing a 2% rise in global sea level 
every year.

	 3.	 Thwaites or Doomsday Glacier is very 
important for Antarctica because it also 
prevents the free flowing glaciers behind it 
from moving forward.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 and 2 only	 (b)	 2 only

	 (c)	 1 only	 (d)	 2 and 3 only

	 35. 	Consider the following statements-
	 1.	 Particles with size PM 10 and PM 2.5 are 

classified as dust particles.

	 2.	 Dust particles are known to influence 
monsoons and storms as well as fertilize or 
make rain forests fertile.
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	 3.	  eè;&iwoZ (if'pe ,f'k;k) ls vkSj bZjku ds iBkj 
ls fudyus okyh èkwy Hkkjrh; xzh"edkyhu ekulwu 
(nf{k.k&if'pe ekulwu) dks Hkh çHkkfor djrh gSA 

	 		 mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	 1] 2 vkSj 3

	 36.	 vkink çcaèku volajpuk ds fy;s xBca/u ds lanHkZ esa 

fuEufyf•r dFkuksa ij fopkj dhft;s&

	 1.	 ;g xBca/u jk"Vªh; ljdkjksa] l;qaDr jk"Vª ,tsafl;ksa  

vkSj dk;ZØeks a] cgqi{kh; fodkl cSadks a rFkk 

foÙkik s"k.k ra=k] futh {k s=k vkfn dh ,d 

cgq&fgrèkkjd oSf'od Hkkxhnkjh gSA

	 2.	 bldk mís'; lrr~ fodkl ds leFkZu esa tyok;q 

vkSj vkink tksf•eksa ds fy;s ubZ ,oa ekStwnk cqfu;knh 

<k¡pk ç.kkfy;ksa dh vuqdwyrk dks c<+kok nsuk gSA

	 	mi;ZqDr dFkuksa esa dkSu&lk@ls lgh gS@gSa\ 

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2 

	 37.	 dsu&csrok fyad ifj;kstuk ds lanHkZ esa fuEufyf•r dFkuksa 

esa ls dkSu&lk lgh ugha gS\

	 (a)	 gky gh esa eè;&çns'k vkSj mÙkj çns'k ds eq[;eaf=k;ksa 

}kjk dsu&csrok fyad ifj;kstuk dks ykxw djus gsrq 

,d le>kSrk Kkiu ij gLrk{kj fd;s x, gSaA

	 (b)	 ;g ifj;kstuk ns'k dh 10 ufn;ksa dks tksM+us gsrq 

'kq: dh xbZ unh tksM+ks ifj;kstukvksa esa ls ,d gSA 

	 (c)	 bl ifj;kstuk esa 77 ehVj yack vkSj 2 fdeh- pkSM+k 

nkS/u ck¡/ dk fuekZ.k gksxkA

	 (d)	 ;g {ks=k mÙkj çns'k ds >k¡lh] ck¡nk] yfyriqj vkSj 

egksck f”kyks esa iQSyk gqvk gSA

	 38.	 oSf'od ySafxd varjky fjiksVZ] 2021 ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s&

	 1.	 ;g fjiksVZ fo'o vkfFkZd eap }kjk tkjh dh tkrh 

gSA

	 2.	 bl fjiksVZ ds vuqlkj dksfoM&19 egkekjh ds izHkko 

ds dkj.k oSf'od ySafxd varjky 99-5 o"kZ ls 

c<+dj 135-6 o"kZ gks x;k gSA

	 3.	 Hkkjr us 156 ns'kkssa esa ls 150ok¡ LFkku izkIr fd;k 

gSA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy A vkSj 3	 (d)	 mijksDr lHkh

	 3.	 Dust emanating from the Middle-East (West 
Asia) and the Iranian plateau also affects the 
Indian Summer Monsoon (South-West 
Monsoon).

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only

	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 36. 	Consider the following statements in the context of 
the Coalition for Disaster Management Infrastructure-

	 1.	 The Alliance is a multi-stakeholder global 
partnership of national governments, United 
Nations agencies and programmes, multilateral 
development banks and financing mechanisms, 
the private sector, etc.

	 2.	 It aims to promote the adaptability of new and 
existing infrastructure systems to climate and 
disaster risks in support of sustainable 
development.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 37. 	Which of the following statements is not correct in 
the context of  Ken-Betwa link project?

	 (a)	 Recently a Memorandum of Understanding 
has been signed by the Chief Ministers of 
Madhya Pradesh and Uttar Pradesh to 
implement the Ken-Betwa link project.

	 (b)	 This project is one of the river interlinking 
projects started to connect 10 rivers of the 
country.

	 (c)	 77 meters long and 2 km wide Daudhan Dam 
will be constructed in this project.

	 (d)	 This region is spread over Jhansi, Banda, 
Lalitpur and Mahoba districts of Uttar Pradesh.

	 38. 	Consider the following statements in the context of 
Global Gender Gap Report, 2021-

	 1.	 This report is released by the World Economic 
Forum.

	 2.	 According to this report, the global gender gap 
has increased from 99.5 years to 135.6 years 
due to the impact of the COVID-19 pandemic.

	 3.	 India has secured 150th position out of 156 
countries.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only

	 (c)	 1 and 3 only	 (d)	 All of the above
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	 39.	 fo'o tula[;k fjiksVZ&2021 ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s& 

	 1.	 la;qDr jk"Vª tula[;k dks"k us ^ek; ckWMh bt ek; 

vksu* 'kh"kZd ls ;g fjiksVZ tkjh dh gSA

	 2.	  la;qDr jk"Vª us fjiksVZ esa igyh ckj 'kkjhfjd@ nSfgd 

Lok;Ùkrk ij è;ku dsafnzr fd;k gSA

	 3.	 fjiksVZ ds vuqlkj 57 fodkl'khy ns'kksa dh yxHkx 

vk/h efgykvksa dks vius 'kjhj ds fo"k; esa fu.kZ; 

ysus dk vf/dkj ugha gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2

	 (c)	 dsoy 3	 (d)	1] 2 vkSj 3

	 40.	vlekurk ?kVkus dh çfrc¼rk lwpdkad 2020 ds lanHkZ 

esa fuEufyf•r dFkuksa ij fopkj dhft;s&

	 1.	 ;g lwpdkad ̂ vkDliQSe* }kjk tkjh fd;k tkrk gSA

	 2.	 bl lwpdkad esa ns'kksa dh jSafdax mudh uhfr;ksa vkSj 

dk;ks± ds ekiu ds vk/kj ij fu/kZfjr fd;k tkrk  gSA

	 3.	 ukbthfj;k] cgjhu vkSj Hkkjr dksfoM&19 ls 

lokZf/d çHkkfor ns'kks esa 'kkfey fd;s x, gSa tks 

vlekurk ls fuiVus esa lcls [kjkc çn'kZu djus 

okys ns'k FksA

	 4.	 Hkkjr us bl lwpdkad esa 'kkfey 158 ns'kksa esa 156ok¡ 

LFkku çkIr fd;k gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3

	 (c)	 dsoy 4	 (d)	 dsoy 2 vkSj 4

	 41.	 n ySalsV Xykscy gsYFk tuZy esa izdkf'kr vè;;u ds lanHkZ 

esa fuEufyf[kr dFkuksa ij fopkj dhft;s&

	 1.	 fo'o ds 17 ns'kksa esa fd;s x, bl vè;;u ds 

vuqlkj dksfoM&19 egkekjh ls fuiVus esa LokLF; 

iz.kkyh dh foiQyrk ds dkj.k ekr` e`R;q nj vkSj 

e`r izlo ds ekeyksa esa o`f¼ gqbZ gSA

	 2.	 ;wukbVsM fdaxMe esa egkekjh ds nkSjku dqy xHkZorh 

efgykvks a dh e`R;q es a ls 88 izfr'kr e`R;q 

vYila[;d lewgksa ls lacaf/r efgykvksa dh gqbZA

	 3.	 Hkkjr esa laLFkkxr izlo esa 20 izfr'kr dh rFkk 

tUe&iwoZ lsokvksa esa 22 izfr'kr dh fxjkoV vkbZ  gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\ 

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	 1] 2 vkSj 3

	 39. 	With reference to the World Population Report-2021 
Consider the following statements-

	 1.	 The United Nations Population Fund has 
released this report titled 'My body is my own'.

	 2.	 For the first time in the report, the United 
Nations has focused on Personal/somatic 
autonomy.

	 3.	 According to the report, almost half of women 
in 57 developing countries do not have the 
right to make decisions about their bodies.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 and 2 only	 (b)	 2 only

	 (c)	 3 only	 (d)	 1, 2 and 3

	 40. 	Consider the following statements in the context of 
Commitment to reducing inequality Index 2020-

	 1.	 This index is issued by 'Oxfam'.

	 2.	 The ranking of countries in this index is 
determined on the basis of measurement of 
their policies and actions.

	 3.	 Nigeria, Bahrain and India are among the 
countries most affected by Covid-19 which 
were the worst performers in tackling 
inequality.

	 4.	 India has ranked 156 out of 158 countries 
included in this index.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 and 2 only	 (b)	 3 only

	 (c)	 4 only	 (d)	 2 and 4 only

	 41.	  Consider the following statements in the context of 
the study published in 'The Lancet Global Health 
Journal'-

	 1.	 According to this study conducted in 17 
countries of the world, due to the failure of the 
health system to deal with the Covid-19 
epidemic, there has been an increase in 
maternal mortality and child mortality at birth.

	 2.	 Women belonging to minority groups 
accounted for 88% of all pregnant women's 
deaths during the pandemic in the United 
Kingdom.

	 3.	 Institutional deliveries in India have declined 
by 20% and antenatal services by 22%.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only

	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
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	 42.	 ^jk"Vªh; nqyZHk jksx uhfr] 2021* ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dft;s&

	 1.	 nokvksa ds Lons'kh vuqlaèkku vkSj LFkkuh; mRiknu 
ij è;ku c<+kuk rFkk nqyZHk jksxksa ds mipkj dh 
ykxr dks de djuk blds mís';ksa esa 'kkfey gSA

	 2.	 bl uhfr esa nqyZHk jksxksa dks rhu lewgksa esa oxhZÑr 
fd;k x;k gS ftlesa lewg ,d ds rgr lwphc¼ 
nqyZHk jksxksa ls ihfM+r jksfx;ksa dks jk"Vªh; vkjksX; 
fufèk ;kstuk ds varxZr chl yk[k #i;s rd foÙkh; 
lgk;rk nh tk,xhA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2

	 43.	 ^vuke;* dk;ZØe ds lanHkZ esa fuEufyf•r dFkuksa ij 
fopkj dhft;s&

	 1.	 ;g tutkrh; dk;Z ea=kky; }kjk 'kq: fd;k x;k 
^vkfnoklh LokLF; lg;ksx dk;ZØe* gSA

	 2.	 bldk mís'; Hkkjr dh tutkrh; vkcknh dh 	
çeq• LokLF; pqukSfr;ksa ds lek/ku ds fy;s ,d 
LFkk;h] mPp çn'kZu okys LokLF; ifjos'k dk fuekZ.k 
djuk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2

	 44.	 fuEufyf•r dFkuksa ij fopkj dhft;s&

	 1.	 gky gh esa ç/kuea=kh us vgkse lkezkT; ds lsukifr 
ykfpr ckM+siQqdu dks Hkkjr ds ^vkRefuHkZj lSU; 
ijkØe dk izrhd* dgkA

	 2.	 jk"Vªh; j{kk vdkneh ds loZJs"B dSMsV dks ̂ ykfpr 
ckM+siQqdu Lo.kZ ind* iznku fd;k tkrk gSA

	 3.	 vgkse lkezkT; v:.kkpy çns'k dk fo'kky lkezkT; 
FkkA 

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2 vkSj 3 

	 45.	 fo'o /jksgj LFkyksa dh vuafre lwph ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s&

	 1.	 fdlh LFky dks fo'o /jksgj LFky ds :i esa ukfer 
gksus ds fy;s vuafre lwph esa lwphc¼ gksuk ,d 
iwoZ vko';d 'krZ gSA

	 2.	 orZeku esa Hkkjr esa 48 fo'o èkjksgj LFky gSaA

	 3.	 ^'kkafr fudsru* vkSj ^gks;lyksa dk ifo=k LFkkiR; 
lewg* dk çLrko o"kZ 2021–2022 ds fy;s bl 
lwph gsrq çLrqr fd;k x;k gSA

	 42. 	Consider the following statements in the context of  
'National Rare Disease Policy, 2021'-

	 1.	 Its objectives include increasing focus on 
indigenous research and local production of 
medicines and reducing the cost of treatment 
of rare diseases.

	 2.	 In this policy, rare diseases have been classified 
into three groups, in which patients suffering 
from rare diseases listed under group one will 
be given financial assistance up to 20 lakh 
rupees under Rashtriya Arogya Nidhi Yojana.

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 43. 	With reference to the program 'Anamaya' Consider 

the following statements-
	 1.	 It is a 'Tribal Health Cooperation Programme' 

launched by the Ministry of Tribal Affairs.
	 2.	 It aims to create a sustainable, high-performing 

health environment to address the major health 
challenges of India's tribal population.

		  Which of the statements given above is/are not 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 44. 	Consider the following statements-
	 1.	 Recently, the Prime Minister called the 

commander of the Ahom kingdom, Lachit 
Barephukan, a 'symbol of Atma Nirbhar 
military might' of India.

	 2.	 Lachit Badephukan Gold Medal is awarded to 
the best cadet of the National Defence 
Academy.

	 3.	 The Ahom kingdom was a vast empire of 
Arunachal Pradesh.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 45. 	Consider the following statements in the context of 

Provisional List of World Heritage Sites-
	 1.	 Listing in the provisional list is a pre-requisite 

for a site to be designated as a World Heritage 
Site.

	 2.	 At present there are 48 World Heritage Sites 
in India.

	 3.	 The proposals for 'Shanti Niketan' and 
'Hoysala's Sacred Architectural Group' have been 
submitted for this list for the year 2021-22.
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	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	 1] 2 vkSj 3

	 46. 	lwph I dks lwph II ds lkFk lqesfyr dhft;s rFkk uhps 

fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s&

	 	 lwph&I	 	lwph&II

	 	 (ikjaifjd uoo"kZ		 (jkT;)

		  vkèkkfjr R;kSgkj)

	 A.	 uojsg	 1.	 egkjk"Vª

	 B.	 xqMh iM+ok	 2.	 d'ehj

	  C.	 fo'kq	 3.	 rfeyukMq 

	 D.	 iqFkkaMw	 4.	 dsjy

	 	dwV%
		  A	 B	 C	 D
	 (a)	 2	 1	 4	 3
	 (b)	 2	 4	 3	 1
	 (c)	 1	 2	 3	 4

	 (d)	 4	 3	 2	 1

	 47.	 Hkkjr esa okeiaFkh vfrokn ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s&

	 1.	 okeiaFkh vfrokfn;ksa dks fo'o ds vU; ns'kksa esa 

ekvksokfn;ksa ds :i esa vkSj Hkkjr esa uDlfy;ksa ds 

:i esa tkuk tkrk gSA

	 2.	 ;g vkanksyu NÙkhlx<+] vksfM'kk vkSj vkaèkz izns'k 

tSls jkT;ksa ds de fodflr {ks=kksa esa iQSyk gSA

	 3.	 lekèkku (SAMADHAN) fl¼kar] okeiaFkh vfrokn 

ls yM+us dh ljdkjh igy gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	 1] 2 vkSj 3

	 48.	  ^jk"Vªh; lkbcj lqj{kk leUo;d* ds lanHkZ esa fuEufyf•r 

dFkuksa ij fopkj dhft;s&

	 1.	 ;g Hkkjr dk loksZPp lkbcj lqj{kk dk;kZy; gSA

	 2.	 jk"Vªh; lqj{kk ifj"kn~ lfpoky; ds rgr lkbcj 

lqj{kk leUo;d] lkbcj lqj{kk ekeyksa esa jk"Vªh; 

Lrj ij fofHkUu ,tsafl;ksa ds lkFk leUo; djrk 

gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 46. 	Match List-I with List-II and select the correct answer 
using the code given below-

		  List-I		  List-II

		  (Traditional New 		  (State)

		  Year based festival)		

	 A.	 Navroz	 1. 	Maharashtra

	 B.	 Gudi Padwa	 2. 	Kashmir

	 C.	 Vishu	 3. 	Tamil Nadu

	 D.	 Puthandu	 4. 	Kerala

	 Code:

		  A	 B	 C	 D

	 (a)	 2	 1	 4	 3

	 (b)	 2	 4	 3	 1

	 (c)	 1	 2	 3	 4

	 (d)	 4	 3	 2	 1

	 47. 	Consider the following statements in the context of 
Left Wing Extremism in India-

	 1.	 Left Wing Extremists are known as Maoists in 
other countries of the world and as Naxalites 
in India.

	 2.	 The movement has spread to the less developed 
areas of states like Chhattisgarh, Odisha and 
Andhra Pradesh.

	 3.	 The SAMADHAN principle is a government 
initiative to fight Left Wing Extremism.

		  Which of the statements given above are correct?

	 (a)	 1 and 2 only	 (b)	 2 and 3 only

	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 48. 	Consider the following statements in the context of 
'National Cyber Security Coordinator'-

	 1.	 It is the apex cyber security office of India.

	 2.	 The Cyber Security Coordinator, under the 
National Security Council Secretariat, 
coordinates with various agencies at the 
national level in cyber security matters.

		  Which of the statements given above is/are correct?

	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	 49.	 ekuojfgr foeku iz.kkyh fu;e] 2021 ds lanHkZ esa dkSu&lk 
dFku lgh ugha gS\

	 (a)	 ekuojfgr foeku iz.kkyh dks orZeku esa fjeksVyh 

ik;ysVsM ,;jØkÝV] ekWMy fjeksVyh ik;ysVsM 

,;jØkÝV vkSj Lok;Ùk ekuojfgr foeku iz.kkyh 

ds :i esa oxhZÑr fd;k x;k gSA

	 (b)	 ekuojfgr foeku iz.kkyh dks vfèkdre Hkkjr 	

ds vkèkkj ij uSuks] lw{e] y?kq] eè;e vkSj cM+s 

ekuojfgr foekuksa ds :i esa oxhZÑr fd;k 	

x;k gSA

	 (c)	 uks ijfe'ku&uks Vsd&vkWiQ ikWfylh dks lHkh ekuo 

jfgr foeku iz.kkfy;ksa ds fy;s viuk;k x;k gSA

	 (d)	 ekuojfgr foeku iz.kkyh dks x`g ea=kky; }kjk gokbZ 

vM~Mksa] j{kk gokbZ vM~Mksa] lhekorhZ {ks=kksa] lSU; 

izfr"Bkuksa@ lqfoèkkvksa rFkk j.kuhfrd vkSj laosnu'khy 

LFkkuksa esa mM+ku Hkjus ls izfrcafèkr fd;k x;kA

	 50.	 AI- vkèkkfjr iksVyZ% SUPACE ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s&

	 1.	 'SUPACE' dk iw.kZ :i ^lqçhe dksVZ iksVZy iQkWj 

vflLVsal bu dksV~lZ ,fiQf'k,alh* gSA

	 2.	 ;g midj.k izklkafxd rF;ksa vkSj dkuwuksa dks ,d=k 

djrk gS vkSj mUgsa U;k;kèkh'kksa ds fy;s miyCèk 

djkrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2

	 51.	 jk"Vªh; leqnzh fnol&2021 ds lanHkZ esa fuEufyf[kr dFkuksa  

ij fopkj dhft;s&

	 1.	 o"kZ 2021 dh Fkhe ¶dksfoM&19 ls vkxs lrr~ 

ukSifjogu¸ FkhA

	 2.	 bldk vk;kstu Hkkjr ds f'kfiax m|ksx dks çksRlkfgr 

djus gsrq fd;k tkrk gSA

	 3.	 orZeku esa Hkkjr dk varjkZ"Vªh; O;kikj ewY; ds 

lanHkZ esa 95% leqnz ds ekè;e ls fd;k tkrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	 1] 2 vkSj 3

	 52.	 ^xzke mtkyk dk;ZØe* ds lanHkZ esa fuEufyf•r dFkuksa ij 

fopkj dhft;s&

	 1.	 blds rgr dk;Z'khy iqjkus rkinhIr cYcksa ds cnys 

ek=k f` 10 esa xzkeh.k {ks=kksa esa ,ybZMh cYcksa dk 

forj.k fd;k tk,xkA

	 49. 	Which of the following statements is not correct in the 
context of Unmanned Aircraft System Rules, 2021?

	 (a)	 Unmanned aircraft systems are currently 
classified as remotely piloted aircraft, model 
remotely piloted aircraft and autonomous 
unmanned aircraft systems.

	 (b)	 The Unmanned Aircraft System is classified 
as Nano, Micro, Small, Medium and Large 
Unmanned Aircraft based on maximum 
weight.

	 (c)	 No permission-no take-off policy has been 
adopted for all unmanned aircraft systems.

	 (d)	 Unmanned aircraft systems have been banned 
by the Ministry of Home Affairs from flying 
over airports, defence airports, border areas, 
military installations/ facilities and strategic 
and sensitive locations.

	 50. 	Consider the following statements in the context of 
AI-based portal 'SUPACE'-

	 1.	 The full form of 'SUPACE' is 'Supreme Court 
Portal for Assistance in Courts Efficiency'.

	 2.	 This tool collects relevant facts and laws and 
makes them available to the judges.

		  Which of the statement(s) given above is/are correct?

	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 51. 	Consider the following statements in the context of 
National Maritime Day-2021-

	 1.	 The theme for the year 2021 was "Sustainable 
Shipping Beyond COVID-19".

	 2.	 It is organized to encourage the shipping 
industry of India.

	 3.	 Presently 95% of India's international trade in 
terms of value is done through sea.

		  Which of the statements given above are correct?

	 (a)	 1 and 2 only	 (b)	 2 and 3 only

	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 52.	 With reference to 'Gram Ujala Programme' Consider 
the following statements-

	 1.	 Under this, instead of working old incandescent 
bulbs, LED bulbs will be distributed in rural 
areas for `10.
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	 2.	 blesa xzkeh.k miHkksDrkvksa dks vfèkdre ik¡p ,y 

bZMh cYc forfjr fd;s tk,axs rFkk mUgsa vius fo|qr 

mi;ksx dk fglkc j[kus gsrq ?kj esa ehVj Hkh yxokuk 

gksxkA

	 3.	 bl dk;ZØe dk foÙkiks"k.k iwjh rjg ls dkcZu 
ØsfMV }kjk fd;k tk,xkA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	 1] 2 vkSj 3  

	 53.	 gky gh esa vkokl vkSj 'kgjh ekeyksa ds ea=kky; us 
^bZV&LekVZ flVh”k pSysat* vkSj ^VªakliksVZ 4 vkWy pSysat* 
dh 'kq:vkr dh gSA bl lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s&

	 1.	 bu igyksa dk mís'; lgh [kkuiku izFkkvksa vkSj 
vknrksa ds ifjos'k ds lkFk lkoZtfud ifjogu dks 
lqjf{kr] ferO;;h] vkjkenk;d vkSj fo'oluh; 
cukuk gSA

	 2.	 VªkaliksVZ 4 vkWy pSysat dk mís'; lkoZtfud ifjogu 
esa lqèkkj djus okys lekèkku fodflr djus ds 
fy;s 'kgjksa] ukxfjd lewgksa ,oa LVkVZvi dks ,d 
lkFk ykuk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (c)	u rks 1] u gh 2

	 54.	fuEufyf•r dFkuksa ij fopkj dhft;s&
	 1.	 [kk| mRiknu esa twuksfll ds tksf[ke dks de djus 

gsrq fo'o LokLF; laxBu us ljdkjksa dks fn'kk funsZ'k 
tkjh fd;s gSaA

	 2.	 twuksfVd iSFkkstal cSDVhfj;k] ok;jl ;k ijthoh gks 
ldrs gSaA

	 3.	 i'kq] fo'ks"k :i ls taxyh tkuoj euq";ksa esa lapkfjr 
lHkh mHkjrs laØked jksxksa ds 70 izfr'kr ls vfèkd 
dk lzksr gksrs gSa] ftuesa ls dbZ ^uksoy ok;jl* ds 
izlkj dk dkj.k gksrs gSaA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	 1] 2 vkSj 3

	 55.	 ^fof'k"V Hkwfe •aM igpku la[;k* ds lanHkZ esa fuEufyf•r 
dFkuksa ij fopkj dhft;s&

	 1.	 dsaæ dh ;kstuk ,d o"kZ ds Hkhrj ns'k ds çR;sd 
Hkw[kaM gsrq 14 vadksa dh ̂ fof'k"V Hkwfe [kaM igpku 
la[;k* tkjh djus dh gSA

	 2.	 o"kZ 2021 esa bls 10 jkT;ksa esa 'kq: fd;k x;k gSA

	 3.	 bl ;kstuk dks 2030 rd iw.kZ djus dk y{; gSA

	 4.	 blds rgr Hkw[kaM dh igpku] mlds ns'kkarj vkSj 
v{kka'k ds vkèkkj ij dh tk,xhA

	 2.	 In this, a maximum of five LED bulbs will be 
distributed to rural consumers and they will 
also have to install a meter in the house to keep 
track of their electricity usage.

	 3.	 The program will be financed entirely by 
carbon credits.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 53. 	Recently the Ministry of Housing and Urban Affairs 

has launched 'Eat-Smart Cities Challenge' and 
'Transport 4 All Challenge'. In this context, consider 
the following statements-

	 1.	 The objective of these initiatives is to make 
public transport safe, economical, comfortable 
and reliable with an environment of right 
catering practices and habits.

	 2.	 The Transport 4 All Challenge aims to bring 
together cities, citizen groups and start ups to 
develop solutions that improve public 
transport.

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 54. 	Consider the following statements-
	 1.	 The World Health Organization has issued 

guidelines to the government to reduce the risk 
of zoonosis in food production.

	 2.	 Zoonotic pathogens can be bacteria, viruses or 
parasites.

	 3.	 Animals, especially wild animals, are the 
source of more than 70% of all emerging 
infectious diseases transmitted to humans, 
many of which are responsible for the spread 
of 'novel viruses'.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 55. 	Consider the following statements in the context of 

'Special Land Block Identification Number'-
	 1.	 The Centre plans to issue a 14-digit 'Unique 

Land Block Identification Number' to each plot 
of land in the country within a year.

	 2.	 It has been started in 10 states in the year 2021.
	 3.	 The target is to complete this scheme by 2030.
	 4.	 The identification of the plot will be done on 

the basis of its longitude and latitude under 
this.
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 	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1] 2 vkSj 4	 (b)	 dsoy 1] 3 vkSj 4

	 (c)	 dsoy 1] 2 vkSj 3	 (d)	 mijksDr lHkh

	 56.	 [kk| çlaLdj.k m|ksx gsrq PLI ;kstuk ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s&

	 1.	 ?kjsyw fofuekZ.k dks c<+kok nsus vkSj vk;kr fcyksa esa 
dVkSrh djus gsrq ;g ;kstuk 'kq: dh xbZA

	 2.	 bldk mís'; oSf'od ifjǹ'; vkSj varjkZ"Vªh; ck”kkjksa 
esa O;kid LohÑfr gsrq pqfuank [kk| mRiknksa ds 
Hkkjrh; czkaM dks etcwrh iznku djuk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2

	 57.	 fczVdkWbu (Britcoin) ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s&

	 1.	 dksjksuk egkekjh esa vkaf'kd :i ls ns'k esa udn 
Hkqxrku esa fxjkoV ds dkj.k cSad vkWiQ baXySaM vkSj 
Vªstjh us fMftVy djsalh cukus dh ?kks"k.kk dh gSA

	 2.	 ;g fØIVksdjsalh ds f[kykiQ Ý;wpj izwfiQax ikmaM 
LVfy±x (;wukbVsM fdaxMe dh eqnzk) dh fn'kk esa 
,d lkFkZd dne gS tks Hkqxrku iz.kkyh esa lqèkkj 
djrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2

	 58.	 LVkVZvi bafM;k lhM iQaM ;kstuk ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s&

	 1.	 bl ;kstuk dk mís'; LVkVZvIl ds çksVksVkbi dk 
fodkl] izwd vkWiQ dkWUlsIV] mRikn ijh{k.k] cktkj 
esa izos'k gsrq foÙkh; lgk;rk iznku djuk gSA

	 2.	 bl ;kstuk ls fV;j 2 vkSj 3 {ks=kksa esa ,d etcwr 
LVkVZvi bdks flLVe dks fodflr djus esa enn 
feysxhA

	 3.	 blesa p;fur ik=k bUD;wcsVjksa dks ` 50 yk[k rd 
vuqnku jkf'k iznku dh tk,xhA

	 	mi;qZDr dFkuksa ls dkSu&lk@ls lgh gS@gSa\
 	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2

	 (c)	 dsoy 3	 (d)	 dsoy 2 vkSj 3

	 59.	 ukckMZ ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s&
	 1.	 ukckMZ }kjk foÙk o"kZ 2020–21 esa 23.5 izfr'kr dh 

O;olkf;d o`f¼ dh xbZ gSA

	 2.	 vkRefuHkZj Hkkjr vfHk;ku ds rgr ukckMZ }kjk 
ljdkjh cSadksa] {ks=kh; xzkeh.k cSadkas vkSj xSj cSafdax 
foÙkh; daiuh y?kq foÙk laLFkku dks ,d fo'ks"k 
rjyrk lqfoèkk ds ekè;e ls jkf'k miyCèk djkbZ 
xbZA

		  Which of the statements given above are correct?
	 (a)	 1, 2 and 4 only	 (b)	 1, 3 and 4 only
	 (c)	 1, 2 and 3 only	 (d)	 All of the above
	 56. 	Consider the following statements with reference to 

the PLI scheme for the food processing industry-
	 1.	 This scheme was launched to boost domestic 

manufacturing and cut import bills.
	 2.	 Its objective is to strengthen the Indian brand 

of select food products for wider acceptance 
in the global scenario and international 
markets.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 57. 	Consider the following statements in the context of 

Britcoin-
	 1.	 The Bank of England and the Treasury have 

announced the creation of a digital currency, 
due to the partial decline in cash payments in 
the country in the Corona pandemic.

	 2.	 It is a meaningful step towards future proofing 
the pound sterling (the currency of the United 
Kingdom) against crypto currencies, which 
improve the payment system.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 58. 	Consider the following statements in the context of 

the Start up India Seed Fund Scheme-
	 1.	 The objective of this scheme is to provide 

financial assistance to start ups for prototype 
development, proof of concept, product 
testing, market entry.

	 2.	 The scheme will help in developing a strong 
start-up eco-system in Tier 2 and 3 sectors.

	 3.	 In this, a grant amount up to Rs 50 lakh will 
be provided to the selected eligible incubators.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 and 2 only	 (b)	 2 only
	 (c)	 3 only	 (d)	 2 and 3 only
	 59. 	Consider the following statements in the context of 

NABARD-
	 1.	 Business growth of 23.5% has been made by 

NABARD in the financial year 2020-21.
	 2.	 Under the Atmanirbhar Bharat Abhiyan, 

NABARD provided funds to government 
banks, regional rural banks and non-banking 
financial companies, small finance institutions, 
through a special liquidity facility.
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	 3.	 ukckMZ }kjk egkekjh ds nkSjku Ñf"k vkSj xzkeh.k 
fodkl gsrq dqy ` 2.23 yk[k djksM+ dh iqu£oÙk 
jkf'k miyCèk djkbZ xbZA 

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	 1] 2 vkSj 3

	 60.	 ^'kiQjh ;kstuk* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s&

	 1.	 ^'kiQjh* uked ;kstuk tyÑf"k mRiknksa ds fy;s 
,d izek.ku ;kstuk gSA

	 2.	 ;g ;kstuk la;qDr jk"Vª ds [kk| ,oa Ñf"k laxBu 
ds tyÑf"k ds fy;s izek.khdj.k fn'kk&funsZ'kksa ij 
vkèkkfjr gSA

	 3.	 ;g gSpjh vFkkZr~ eNyh ikyus dk ckM+k ds fy;s 
cktkj vkèkkfjr midj.k gS tks mRÑ"V tyh; Ñf"k 
dks viukus vkSj oSf'od miHkksDrkvksa ds fy;s 
xq.koÙkk;qDr ^,aVhck;ksfVd eqDr* >haxk mRiknksa dk 
mRiknu djus esa enn djsxkA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	mijksDr lHkh

	 61.	 u, cSad ykblsalksa dh LØhfuax ds fy;s ubZ lfefr ds lanHkZ 
esa fuEufyf[kr dFkuksa ij fopkj dhft;s&

	 1.	 Hkkjrh; fj”koZ cSad us lkoZHkkSfed vkSj y?kq foÙk 
cSadksa ds vkosnuksa ds ewY;kadu ds fy;s ';keyk 
xksihukFk dh vè;{krk esa ,d ik¡p lnL;h; cká 
lykgdkj lfefr dk xBu fd;k gSA

	 2.	 bl lfefr dk dk;Zdky rhu o"kks± dk gksxkA

	 3.	 vkj-ch-vkbZ- ds fofu;eu foHkkx }kjk lfefr dks 
lfpoky; Lrj dh lgk;rk iznku dh tk,xhA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2 vkSj 3

	 62.	 gky gh esa vesfjdk us Hkkjr lesr 11 ns'kksa dks mudh 
eqæk ds O;ogkj dks ysdj ^eqæk O;ogkj fuxjkuh lwph* 
(djsalh eSfuiqysVlZ okWp fyLV) esa j[kk gSA bl lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s&

	 1.	 ;w-,l- Vsªtjh foHkkx }kjk O;kikfjd Hkkxhnkj ns'kksa 
dh ,d lwph cukbZ tkrh gS] ftlesa ,sls Hkkxhnkj 
ns'kksa dh eqæk ds O;ogkj vkSj mudh o`gn~ vkfFkZd 
uhfr;ksa ij u”knhdh ls u”kj j[kh tkrh gSA

	 2.	 ;g foHkkx vesfjdk ds lHkh O;kikfjd Hkkxhnkjksa 
ds eqæk O;ogkjksa dh leh{kk djrk gSA

	 3.	 A total refinance amount of Rs 2.3 lakh crore 
has been provided by NABARD for agriculture 
and rural development during the pandemic.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 60. 	Consider the following statements in the context of 

'SHAPHARI Scheme'-
	 1.	 The scheme named 'SHAPHARI' is a 

certification scheme for aquaculture products.
	 2.	 The scheme is based on the Food and 

Agriculture Organization of the United 
Nations' Food and Agriculture Organization's 
certification guidelines for aquaculture.

	 3.	 It is market based equipment for hatcheries 
which will help in adopting excellent 
aquaculture and producing quality 'antibiotic 
free' shrimp products for global consumers.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only

	 (c)	 1 and 3 only	 (d)	 All of the above

	 61. 	Consider the following statements in the context of 
new committee for screening of new bank licences-

	 1.	 The Reserve Bank of India has constituted a 
five-member external advisory committee 
under the chairmanship of Shyamala Gopinath 
to evaluate the applications of universal and 
small finance banks.

	 2.	 The tenure of this committee will be three 
years.

	 3.	 Secretariat level assistance will be provided to 
the Committee by the Regulation Department 
of RBI.

		  Which of the statements given above is/are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only

	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 62. 	Recently, the US has placed 11 countries including 
India in the 'Currency Manipulators Watch List' 
regarding the behaviour of their currency. In this 
context, consider the following statements-

	 1.	 A list of trading partner countries is prepared 
by the US Treasury Department, in which the 
currency behaviour of such partner countries 
and their macroeconomic policies are closely 
monitored.

	 2.	 This department reviews the currency 
transactions of all US trading partners.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 63.	 gky gh esa Hkkjr dks la;qDr jk"Vª vkfFkZd vkSj lkekftd 
ifj"kn~ ds rhu izeq[k fudk;ksa ds dk;Zdkjh cksMZ ds fy;s pquk 
x;k gSA uhps fn;s x;s dwV dk iz;ksx dj lgh mÙkj pqfu;s&

	 1.	 deh'ku vkWu Økbe fizosa'ku ,aM fØfeuy tfLVl

	 2.	 fo'o [kk| dk;ZØe

	 3.	 ;w,u ohesu

	 4.	 fo'o i;ZVu laxBu

	 	dwV%
	 (a)	 dsoy 1] 2 vkSj 4	 (b)	 dsoy 2] 3 vkSj 4

	 (c)	 dsoy 1] 2 vkSj 3 	 (d)	dsoy 1] 3 vkSj 4

	 64.	 Lost ugj ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s&

	 1.	 ;g ,f'k;k vkSj ;wjksi ds chp lcls NksVk leqæh 
ekxZ iznku djrh gSA

	 2.	 ;g fo'o dh lokZfèkd bLrseky dh tkus okyh 
f'kfiax ysu esa ls ,d gS] ftlesa fo'o ds dqy 
O;kikj dk 12 izfr'kr ls vfèkd dk O;kikj 	
gksrk gSA

	 3.	 ;g iwoZ ls if'pe dh vksj tkus okys rsy o 
izkÑfrd xSl vkfn ekyokgdksa dks ,d egÙoiw.kZ 
ekxZ iznku djrh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2

	 (c)	 dsoy 3	 (d)	1] 2 vkSj 3

	 65.	 Hkkjr ljdkj us viuh ubZ eqfDrtks¼k Nk=ko`fÙk ;kstuk ds 
rgr ckaXykns'k ds eqfDr laxzke esa fgLlk ysus okys lsukfu;ksa 
ds 2000 oa'ktksa dks Nk=ko`fÙk nsus dh ?kks"k.kk dh gSA bl 
lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s&

	 1.	 ;kstuk ds rgr dsoy xzstq,'ku ds Nk=kksa dh Nk=kòfÙk 
dh jkf'k izR;{k rkSj ij muds cSad [kkrs esa iznku 
dh tk,xhA

	 2.	 ;kstuk dk mn~ns'; vkxkeh ik¡p o"kZ dh vofèk esa 
ckaXykns'k ds nl gtkj Nk=kksa dks ykHkkfUor djuk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 66.	 gky gh esa nf{k.k phu ds gSuku izkar ds cksvkvks esa 
^cksvkvks iQksje iQkWj ,f'k;k* okf"kZd lEesyu] 2021 dk 
mn~?kkVu lekjksg vk;ksftr fd;k x;kA bl lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s&

	 1.	 cksvkvks iQksje iQkWj ,f'k;k] ,d xSj&ykHkdkjh 
varjkZ"Vªh; laxBu gS] ftls o"kZ 2001 esa 26 lnL; 
jkT;ksa }kjk la;qDr :i ls izkjaHk fd;k x;k FkkA

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 63. 	Recently India has been elected to the Executive 

Board of the three main bodies of the United Nations 
Economic and Social Council. Select the correct 
answer using the code given below-

	 1.	 Commission on Crime Prevention and 
Criminal Justice. 

	 2.	 World Food Program. 
	 3.	 UN Women. 
	 4.	 World Tourism Organization.
		  Codes:
	 (a)	 1, 2 and 4 only	 (b)	 2, 3 and 4 only
	 (c)	 1, 2 and 3 only	 (d)	 1, 3 and 4 only
	 64. 	Consider the following statements in the context of 

Suez Canal:
	 1.	 It provides the shortest sea route between Asia 

and Europe.
	 2.	 It is one of the world's most used shipping 

lanes, accounting for more than 12% of the 
world's trade.

	 3.	 It provides an important route for cargoes like 
oil, natural gas etc. going from east to west.

		  Which of the statements given above is/are correct?
	 (a)	 1 and 2 only	 (b)	 2 only
	 (c)	 3  only	 (d)	 1, 2 and 3
	 65. 	The Government of India, under its new Muktijoddha 

Scholarship Scheme, has announced scholarships to 
2000 descendants of fighters who took part in the 
Bangladesh Liberation War. In this context, consider 
the following statements-

	 1.	 Under the scheme, the scholarship amount of 
only the graduate students will be provided 
directly in their bank account.

	 2.	 The objective of the scheme is to benefit ten 
thousand students of Bangladesh in the next 
five years.

		  Which of the statements given above is/are not 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 66. 	Recently, the opening ceremony of the 'Boao Forum 

for Asia' annual conference, 2021 was held in Boao, 
Hainan province of South China. In this context, 
consider the following statements-

	 1.	 The Boao Forum for Asia, a non-profit 
international organization, was jointly started 
in 2001 by 26 member states.
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	 2.	 bl laxBu dk mn~ns'; ,f'k;k esa vkfFkZd ,dhdj.k 
dks c<+kok nsuk FkkA

	 3.	 Hkkjr bl laxBu dk lnL; ugha gSA

	 4.	 bl iQksje dk o"kZ 2021 dk fo"k; ^, oYMZ bu 
psat% TokWbu gSaM Vw LVªsaFk Xykscy xous±l ,aM ,Mokal 
csYV ,aM jksM dksvkWijs'ku* gSA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1] 2 vkSj 3	 (b)	 dsoy 1] 2 vkSj 4

	 (c)	 dsoy 2] 3 vkSj 4	 (d)	mijksDr lHkh

	 67.	 Liqrfud&V oSDlhu ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s&

	 1.	 Liqrfud&V oSDlhu dks ekWLdks esa ̂ xkekys;k us'kuy 
fjlpZ baLVhV~;wV vkWiQ ,fiMsfe;ksykWth ,aM 
ekbØksck;ksykWth* }kjk fodflr fd;k x;k gSA

	 2.	 Liqrfud&V oSDlhu] dksjksuk ok;jl ds fy;s 
fodflr fo'o dh igyh oSDlhu gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 68.	 ^ÝysfDlcy Ý;wy àhdy* ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s&

	 1.	 ÝysfDlcy Ý;wy àhdy] okguksa dk ,d la'kksfèkr 
laLdj.k gS] ftls isVªksy vkSj bFksukWy nksuksa ds lkFk 
iz;ksx fd;k tk ldrk gSA

	 2.	 orZeku esa bls czkthy esa liQyrkiwoZd mi;ksx fd;k 
tk jgk gSA

	 3.	 ekStwnk fu;e isVªksy esa nl izfr'kr rd bFksukWy 
feykus dh vuqefr nsrs gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2

	 (c)	 dsoy 3	 (d)	1] 2 vkSj 3

	 69.	 ^CyM vkWDlhtu lspqjs'ku lIyhesaVy vkWDlhtu fMyhojh 
flLVe* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s&

	 1.	 ;g iz.kkyh vR;fèkd Å¡pkbZ okys bykdksa esa ;q¼jÙk 
Hkkjrh; lSfudksa ds fy;s cgqr mi;ksxh lkfcr gksxhA 
bldk mi;ksx dksjksuk ls laØfer yksxksa }kjk Hkh 
fd;k tk ldrk gSA

	 2.	 SPO2 dk Lrj de gksus ij ;g iz.kkyh vkWDlhtu 
dk izokg c<+kdj mls Lo;a lek;ksftr dj ysrh  gSA

	 3.	 ;g iz.kkyh vkbZlh,evkj }kjk fodflr dh xbZ gSA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2 vkSj 3

	 2.	 The purpose of this organization was to 
promote economic integration in Asia.

	 3.	 India is not a member of this organization.

	 4.	 The theme of this forum for the year 2021 is 
'A World in Change: Joining Hands to 
Strengthen Global Governance and Advance 
Belt and Road Cooperation'.

		  Which of the statements given above are correct?
	 (a)	 1, 2 and 3 only	 (b)	 1, 2 and 4 only

	 (c)	 2, 3 and 4 only	 (d)	 All of the above

	 67. 	Consider the following statements in the context of 
Sputnik-V vaccine-

	 1.	 The Sputnik-V vaccine has been developed by 
the 'Gamalea National Research Institute of 
Epidemiology and Microbiology' in Moscow.

	 2.	 The Sputnik-V vaccine is the world's first 
vaccine developed for the corona virus.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 68. 	Consider the following statements with reference to 
'Flexible Fuel Vehicle'-

	 1.	 The Flexible Fuel Vehicle is a modified version 
of the vehicle, which can be used with both 
petrol and ethanol.

	 2.	 It is currently being used successfully in Brazil.

	 3.	 Existing rules allow mixing of ethanol up to 
10 per cent in petrol.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 and 2 only	 (b)	 2 only

	 (c)	 3 only	 (d)	 1, 2 and 3

	 69. 	Consider the following statements with reference to 
'Blood Oxygen Saturation Supplemental Oxygen 
Delivery System'-

	 1.	 This system will prove to be very useful for 
Indian soldiers fighting in high altitude areas. 
It can also be used by people infected with 
corona.

	 2.	 When the SPO2 level is low, the system adjusts 
itself by increasing the flow of oxygen.

	 3.	 This system is developed by ICMR.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
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	 70.	 ^gal U;w tujs'ku% izf'k{kd foeku* ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s&

	 1.	 oSKkfud rFkk vkS|ksfxd vuqlaèkku ifj"kn~ dh caxyq: 
fLFkr us'kuy ,;jksLisl yscksjsVªh us nks lhVksa okyk 
;g izf'k{kd foeku fodflr fd;k gSA

	 2.	 mUur Lons'kh Vsªuj foeku dh c<+rh vko';drk 
ds en~nsu”kj ljdkj us o"kZ 2018 esa ^gal U;w 
tujs'ku* ifj;kstuk dks eatwjh nh FkhA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 71.	 ^ywuj 25* fe'ku ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s&

	 1.	 :l dk ywuj ySa¯Mx fe'ku ^ywuj 25* paæek dh 
lrg ds uhps teh ciZQ dk vè;;u djsxkA

	 2.	 :l dh varfj{k ,tsalh ^jkWldkWlekWl o"kZ 2021 
ds vDVwcj ekg esa vius bl fe'ku dks ykWUp  djsxkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 72.	 ^i`Foh fnol* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s&

	 1.	 bl fnol dk mn~ns'; i;kZoj.k ds izfr lkoZtfud 
tkx#drk c<+kuk vkSj yksxksa dks blds laj{k.k ds 
fy;s izsfjr djuk gSA

	 2.	 o"kZ 2021 dh i`Foh fnol dh Fkhe ^jhLVksj voj 
vFkZ* FkhA

	 3.	 bl o"kZ fo'o ds ikfjfLFkfrd ra=k dks iqu% cgky 
djus ds fy;s izkÑfrd izfØ;kvksa] mHkjrh gqbZ gfjr 
izkS|ksfxfd;ksa vkSj ubZ lksp ij tksj fn;k x;kA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	mijksDr lHkh

	 73.	 ^Fkzh cSaMsM jkstfiaQp* ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s&

	 1.	 ckWEcs uspqjy fgLVªh lkslkbVh ds oSKkfudksa us iwohZ 
fgeky; esa i{kh dh ,d ubZ iztkfr dk irk 
yxk;k gSA

	 2.	 ^Fkzh cSaMsM jkstfiaQp* uked ;g i{kh iztkfr izk;% 
nf{k.kh phu vkSj HkwVku esa ikbZ tkrh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 70. 	Consider the following statements in the context of 
'Hans New Generation: Trainer Aircraft'-

	 1.	 The National Aerospace Laboratory of the 
Council of Scientific and Industrial Research, 
Bangalore, has developed this two-seater 
trainer aircraft.

	 2.	 In view of the growing need for advanced 
indigenous trainer aircraft, the government 
approved the 'Hans New Generation' project 
in the year 2018.

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 71. 	Consider the following statements in the contex of  

'Lunar 25' mission-
	 1.	 Russia's Lunar Landing Mission 'Lunar 25' 

will study the ice frozen beneath the surface 
of the Moon.

	 2.	 Russia's space agency 'Roscosmos' will launch 
this mission in the month of October 2021.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 72. 	Consider the following statements in the context of 

'Earth Day'-
	 1.	 The purpose of this day is to increase public 

awareness about the environment and to 
inspire people to protect it.

	 2.	 The theme of Earth Day for the year 2021 was 
'Restore our Earth'.

	 3.	 This year the emphasis was on natural 
processes, emerging green technologies and 
innovative thinking to restore the world's 
ecosystems.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 All of the above
	 73. 	Consider the following statements in the context of  

'Three Banded Rosefinch'-
	 1.	 Scientists of the Bombay Natural History 

Society have discovered a new species of bird 
in the Eastern Himalayas.

	 2.	 This bird species named 'Three-banded 
Rosefinch' is often found in southern China 
and Bhutan.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	 74.	 fuEufyf[kr dFkuksa esa ls dkSu&lk lgh ugha gS\
	 (a)	 vksfM'kk ljdkj us egsaæfxfj dks jkT; ds nwljs 

ck;ksLiQh;j fj”koZ ds :i esa izLrkfor fd;k gSA

	 (b)	 egsaæfxfj ck;ksLiQh;j fj”koZ dk {ks=k iwohZ ?kkV esa 
xtifr ,oa xate f”kyksa rd iSQyk gSA

	 (c)	 ;g yxHkx 1]358 iztkfr;ksa rFkk vksfM'kk dh 40 
izfr'kr ouLifr;ksa dk izfrfufèkRo djrh gSaA

	 (d)	 fleyhiky ck;ksLiQh;j fj”koZ vksfM'kk dk rhljk 
ck;ksLiQh;j fj”koZ gSA

	 75.	 ^bafM;u tafiax vkaV* ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s&

	 1.	 ;g Hkkjr ds eSnkuh bykdksa esa ikbZ tkus okyh ,d 
cM+h vk¡[kksa okyh phaVh gS] tks vius vkdkj ds 
nksxqus vkdkj ds tho dk f'kdkj djus esa l{ke gSA

	 2.	 ;g vius 'kjhj dks iztuu ds fy;s rS;kj djus gsrq 
vius efLr"d dks yxHkx 20% rd de dj 
ldrh gS rFkk iztuu ds ckn vius efLr"d ds 
vkdkj dks iqu% c<+k ldrh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 76.	 ^fMLd iqQVsM cSV* ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s&

	 1.	 ;g Hkkjr dk igyk ck¡l ds o`{kksa ij jgus vkSj 
fpifpis fMLd (iatksa dk vkarfjd fgLlk) okyk 
pexknM+ dks es?kky; ds uksaxf[kYyse oU;tho 
vHk;kj.; ds ikl ns[kk x;kA

	 2.	 ;g iztkfr nf{k.kh phu] fo;ruke] FkkbZySaM vkSj 
E;kaekj ds dqN bykdksa esa ikbZ tkrh gSA

	 3.	 IUCN dh jsM fyLV esa ;g ^foyqIrizk; Js.kh esa 
j[kk x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2

	 (c)	 dsoy 3	 (d)	1] 2 vkSj 3

	 77.	 ^ghfy;e* ds lanHkZ eas fuEufyf[kr dFkuksa ij fopkj 
dhft;s&

	 1.	 Hkkjr }kjk viuh ghfy;e lacaèkh t:jrksa dks iwjk 
djus ds fy;s bldk vk;kr fd;k tkrk gSA

	 2.	 o"kZ 2021 ls vesfjdk }kjk ghfy;e ds fu;kZr esa 
dh tkus okyh dVkSrh ds pyrs Hkkjrh; m|ksxksa dks 
Hkkjh uqdlku mBkuk iM+ ldrk gSA

	 3.	 eSXusfVd jstksusal besftax dks LdSu djus rFkk jkWdsV 
b±èku vkSj ijek.kq fj,DVjksa vkfn esa ghfy;e dk 
mi;ksx fd;k tkrk gSA

	 4.	 Hkkjr esa ghfy;e ugha ik;k tkrk gSA

	 74. 	Which of the following statements is not correct?
	 (a)	 The Odisha government has proposed 

Mahendragiri as the second biosphere reserve 
of the state.

	 (b)	 The area of Mahendragiri Biosphere Reserve 
extends to Gajapati and Ganjam districts in the 
Eastern Ghats.

	 (c)	 It represents about 1,358 species and 40 per 
cent of the flora of Odisha.

	 (d)	 Simlipal Biosphere Reserve is the third 
Biosphere Reserve of Odisha.

	 75. 	Consider the following statements with reference to 
'Indian Jumping Ant'-

	 1.	 It is a large-eyed ant found in the plains of 
India, which is capable of hunting an organism 
twice its size.

	 2.	 It can reduce about 20% of its brain to prepare 
its body for reproduction and can regain the 
size of its brain after reproduction.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 76. 	With reference to 'Disc Footed Bat' Consider the 
following statements-

	 1.	 It is India's first bamboo tree-dwelling and 
sticky disc (inner part of the claw) bats were 
spotted near Nongkhillem Wildlife Sanctuary 
in Meghalaya.

	 2.	 This species is found in southern China, 
Vietnam, Thailand and some areas of Myanmar.

	 3.	 In the IUCN Red List it has been kept in the 
'endangered category'.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 and 2 only	 (b)	 2 only

	 (c)	 3 only	 (d)	 1, 2 and 3

	 77. 	Consider the following statements in the context of 
'Helium'-

	 1.	 It is imported by India to meet its helium 
requirements.

	 2.	 Due to the reduction in the export of helium 
by the US from the year 2021, Indian industries 
may have to suffer heavy losses.

	 3.	 Helium is used for scanning magnetic 
resonance imaging and in rocket fuels and 
nuclear reactors etc.

	 4.	 Helium is not found in India.
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	 	uhps fn;s x;s dwV dk iz;ksx dj lgh mÙkj pqfu;s&

	 (a)	 dsoy 1] 2 vkSj 3	 (b)	 dsoy 1] 3 vkSj 4

	 (c)	 dsoy 1] 2 vkSj 4	 (d)	mi;qZDr lHkh

	 78.	 ^ladYi ls flf¼* vfHk;ku ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s&

	 1.	 ;g vfHk;ku ns'k esa tutkrh; ikfjra=k ds iw.kZ 

ifjorZu dks izHkkoh cukus esa lgk;d gSA

	 2.	 gky gh esa VªkbiQsM }kjk ^ladYi ls flf¼* Mªkbo 

'kq: dh xbZA

	 3.	 ;g lekt ds oafpr vkfnoklh oxks± rd igq¡p 

cukus ds fy;s rFkk ns'k ds 1500 xk¡oksa esa ou èku 

fodkl dsaæksa dks lfØ; djus gsrq 100 fnu dh 

Mªkbo gSA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	mijksDr lHkh

	 79.	 gky gh esa ̂ lefUor LokLF; lwpuk IysViQkWeZ* dk 'kqHkkjaHk 

fd;k x;kA bl lanHkZ esa fuEUkfyf[kr dFkuksa ij fopkj 

dhft;s&

	 1.	 ;g IysVkiQkWeZ ekStwnk ^lefUor jksx fuxjkuh 

dk;ZØe* dk vR;k/qfud vkSj viMsVsM :i gSA

	 2.	 Hkkjr fo'o dk igyk ,slk ns'k cu x;k gS] ftlus 

chekfj;ksa dh fuxjkuh ds fy;s ,slh ifj"Ñr 	

iz.kkyh viukbZ gSA

	 3.	 bl iz.kkyh ds ekè;e ls jksxksa ds rRdky vk¡dM+s 

miyC/ gksaxsA

	 4.	 u, IysVdkWeZ esa lHkh chekfj;ksa dh fuxjkuh dh 

O;oLFkk dh xbZ gSA

	 	mi;qZDr dFkuksa esa dkSu&ls lgh gSa\

	 (a)	 dsoy 1] 2 vkSj 3	 (b)	 dsoy 2] 3 vkSj 4

	 (c)	 dsoy 1] 3 vkSj 4	 (d)	mijksDr lHkh

	 80.	 gky gh esa ^iks"k.k Kku* fMf”kVy dks"k dh 'kq#vkr dh 

xbZ gSA bl lanHkZ esa fuEUkfyf[kr dFkuksa ij fopkj dhft;s&

	 1.	 bl fMf”kVy dks"k esa ekStwnk lkexzh esa fofHkUu 

izdkj ds fo"k;] tSls& izloiwoZ ns[kHkky] iwjd 

vkgkj] fd'kksj LokLF;] vkgkj fofoèkrk] ,uhfe;k 

dh jksdFkke vkfn 'kkfey gSaA

	 2.	 bl fMftVy dks"k dk j[kj[kko uhfr vk;ksx }kjk 

fd;k tk,xkA

	 	mi;qZDr dFkuksa esa dkSu&lk@ls lgh gS@gSa&

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

		  Select the correct answer using the code given below
	 (a)	 1, 2 and 3 only	 (b)	 1, 3 and 4 only
	 (c)	 1, 2 and 4 only	 (d)	 All of the above

	 78. 	Consider the following statements in the context of 
'Sankalp se Siddhi' campaign-

	 1.	 This campaign is helpful in making effective 
the complete transformation of the tribal 
ecosystem in the country.

	 2.	 Recently 'Sankalp se Siddhi' drive was 
launched by TRIFED.

	 3.	 This drive is a 100 day drive to reach out to 
the deprived tribal sections of the society and 
activate Van Dhan Vikas Kendras in 1500 
villages of the country.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only

	 (c)	 1 and 3 only	 (d)	 All of the above

	 79. 	Recently 'Coordinated Health Information Platform' 
was launched. In this context, consider the following 
statements-

	 1.	 This platform is a state-of-the-art and updated 
version of the existing 'Integrated Disease 
Surveillance Programme'.

	 2.	 India has become the first country in the world 
to adopt such a sophisticated system for 
disease surveillance.

	 3.	 The statistics of diseases will be available 
immediately through this system.

	 4.	 Arrangements have been made to monitor all 
diseases in the new platform.

		  Which of the statements given above are correct?
	 (a)	 1, 2 and 3 only	 (b)	 2, 3 and 4 only

	 (c)	 1, 3 and 4 only	 (d)	 All of the above

	 80. 	Recently 'Poshan Gyan' digital fund has been 
launched. In this context, consider the following 
statements-

	 1.	 The existing content in this digital fund covers 
a wide range of topics such as antenatal care, 
complementary feeding, adolescent health, 
dietary diversity, prevention of anaemia, etc.

	 2.	 This digital fund will be maintained by NITI 
Aayog.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	 81.	 gky gh esa fo'o izsl Lora=krk lwpdkad] 2021 tkjh fd;k 
x;kA bl lanHkZ esa dkSu&lk dFku lgh ugha gS\

	 (a)	 ;g lwpdkad i=kdkjkas ds fy;s miyC/ Lora=krk ds 
Lrj ds vuqlkj ns'kksa vkSj {ks=kksa dks jSad iznku 
djrk gSA

	 (b)	 i=kdkfjrk lwph esa 'kkfey yxHkx 73 izfr'kr ns'kksa 
esa i=kdkfjrk dh fLFkfr iw.kZr% ;k vkaf'kd :i ls 
ckfèkr gSA

	 (c)	 bl lwpdkad esa MsuekdZ us izFke LFkku izkIRk 
fd;k gSA

	 (d)	 Hkkjr dks 142ok¡ LFkku izkIRk gqvk gSA

	 82.	 gky gh esa ^LVkWdgkse baVjus'kuy ihl fjlpZ baLVhV~;wV us 
VªsM~al bu oYMZ fefyVªh ,DlisafMpj* fjiksVZ tkjh dh gSA 
bl laanHkZ esa fuEUkfyf[kr dFkuksa ij fopkj dhft;s&

	 1.	 fjiksVZ ds vuqlkj] nqfu;k esa 'kh"kZ lSU; [kpZ djus 
okys la;qDr jkT; vesfjdk] phu vkSj Hkkjr gSaA ;s 
rhuksa ns'k feydj 62 izfr'kr oSf'od lSU; [kpZ 
djrs gSaA

	 2.	 Hkkjr vkSj phu us vius thMhih dk Øe'k% 2-9 
izfr'kr vkSj 1-7 izfr'kr [kpZ fd;kA

	 	mi;qZDr dFkuksa esa dkSu&lk@ls lgh gS@gSa&

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 83.	 gky gh esa LokLF; vkSj ifjokj dY;k.k ea=kky; us ̂ xzkeh.k 
LokLF; lkaf[;dh fjiksVZ* tkjh dhA bl lanHkZ esa fuEUkfyf[kr 
dFkuksa ij fopkj dhft;s&

	 1.	 orZeku esa Hkkjr esa 5]183 lkeqnkf;d LokLF; dsanz 
dk;Zjr gSaA

	 2.	 xzkeh.k {ks=kksa esa lkeqnkf;d LokLF; dsanzksa esa fo'ks"kK 
MkWDVj i;kZIRk gSaA

	 3.	 lkeqnkf;d LokLF; dsanzksa esa fo'ks"kKksa ds LohÑr 
3-3 izfr'kr in fjDr gSaA

	 	mi;qZDr dFkuksa esa dkSu&ls lgh ugha gSa&

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	mijksDr lHkh

	 84.	 gky gh esa iQslcqd vkSj bdksukWfeLV baVsfytsal ;wfuV us 
la;qDr :i ls ^lekos'kh baVjusV lwpdkad* tkjh fd;kA 
bl lanHkZ esa fuEUkfyf[kr dFkuksa ij fopkj dhft;s&

	 1.	 lwpdkad ds vuqlkj] baVjusV ds mi;ksx dks ysdj 
baVjusV lekos'ku vkSj ySafxd lekurk ds ekeys esa 
Hkkjr 49osa LFkku ij gSA

	 2.	 jSafdax esa MsuekdZ izFke LFkku ij jgkA

	 3.	 ;g jSafdax baVjusV dh miyCèkrk] lkeF;Z] izklafxdrk 
vkSj rRijrk ds vk/kj ij rS;kj dh xbZA

	 81. 	Recently the World Press Freedom Index, 2021 was 
released. Which of the following statement is not 
correct in this context?

	 (a)	 This index ranks countries and regions 
according to the level of freedom available to 
journalists.

	 (b)	 The state of journalism is completely or 
partially disrupted in about 73% of the 
countries on this journalism list.

	 (c)	 Denmark has secured first place in this index.

	 (d)	 India has been ranked 142nd.

	 82. 	Recently the Stockholm International Peace Research 
Institute has released the report 'Trends in World 
Military Expenditure'. In this context, consider the 
following statements-

	 1.	 According to the report, the top military 
spenders in the world are the United States, 
China and India. These three countries together 
account for 62% of global military spending.

	 2.	 India and China spent 2.9% and 1.7% of their 
GDP respectively.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 83. 	Recently the Ministry of Health and Family Welfare 
released the 'Rural Health Statistics Report'. In this 
context, consider the following statements-

	 1.	 At present there are 5,183 Community Health 
Centres functioning in India.

	 2.	 Community health centres in rural areas have 
enough specialist doctors.

	 3.	 3.3% of the sanctioned posts of specialists in 
community health centres are vacant.

		  Which of the statements given above is/are not 
correct?

	 (a)	 1 and 2 only	 (b)	 2 and 3 only

	 (c)	 1 and 3 only	 (d)	 All of the above

	 84. 	Recently Facebook and Economist Intelligence Unit 
jointly released Inclusive Internet Index. In this 
context, consider the following statements-

	 1.	 According to the index, India is ranked 49th 
in terms of internet inclusion and gender 
equality in terms of internet usage.

	 2.	 Denmark ranked first in the ranking.

	 3.	 This ranking was prepared on the basis of 
Internet availability, affordability, relevance 
and readiness.
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	 	mi;qZDr dFkuksa esa dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 dsoy 1 vkSj 3	 (d)	dsoy 2 vkSj 3

	 85.	 jk"Vªh; lkaf[;dh dk;kZy; us gky gh esa Hkkjr esa efgykvksa 

vkSj iq#"kksa dh fjiksVZ&2020] tkjh dhA bl lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s&

	 1.	 bl fjiksVZ ds vuqlkj] 2021 esa Hkkjr dh vuqekfur 

tula[;k 136-13 djksM+ gS] ftlesa 48.65 izfr'kr 

efgyk tula[;k gSA

	 2.	 fnYyh] paMhx<+ vkSj v#.kkpy izns'k esa fyaxkuqikr 

esa mYys[kuh; o`f¼ ntZ dh xbZ gSA

	 	mi;qZDr dFkuksa esa dkSu&lk@ls lgh gS@gSa&

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 86.	 fo'o vkfFkZd ifjǹ'; fjiskVZ] 2021 ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s&

	 1.	 fjiksVZ ds vuqlkj Hkkjr dh vkfFkZd o`f¼ nj foÙk 

o"kZ 2021 esa 12.5 izfr'kr jgus dk vuqeku gSA

	 2.	 oSf'od vFkZO;oLFkk o"kZ 2020 esa 3-3 izfr'kr 

ladqfpr gqbZ gSA

	 3.	 varjkZ"Vªh; eqnzk dks"k us o"kZ 2021 vkSj o"kZ 2022 

esa fo'o dh fodkl nj Øe'k% 6 izfr'kr rFkk 

4-4 izfr'kr jgus ds dkj.k ,d etcwr vkfFkZd 

fjdojh dh Hkfo";ok.kh dh gSA

	 	mi;qZDr dFkuksa esa dkSu&ls lgh gSa&

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	mijksDr lHkh

	 87.	 fuEUkfyf[kr esa dkSu&lk@ls uhfr vk;ksx ds izeq[k dk;ks± ls 

lacafèkr gS@gSaA dwV dh lgk;rk ls lgh mÙkj dk p;u 

dhft;s&

	 1.	 lg;ksx iw.kZ la?kokn dks c<+kok nsukA

	 2.	 j.kuhfrd ,oa nh?kkZofèk ds fy;s dk;ZØe ,oa uhfr;ksa 

dk <k¡pk rS;kj djukA

	 3.	 vkfFkZd izxfr ds ykHk ls oafpr lewgksa ij fo'ks"k 

rkSj ij è;ku nsukA

	 4.	 dk;ZØeksa ,oa uhfr;ksa ds fØ;kUo;u ds fy;s 

izkS|ksfxdh mUu;u ,oa {kerk fuekZ.k ij ”kksj nsukA

		 dwV%

	 (a)	 dsoy 1] 2 vkSj 3	 (b)	 dsoy 2] 3 vkSj 4

	 (c)	 dsoy 1 vkSj 2	 (d)	mijksDr lHkh

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 1 and 3 only	 (d)	 2 and 3 only

	 85. 	The National Statistical Office recently released the 
Women and Men Report-2020 in India. In this 
context, consider the following statements-

	 1.	 According to this report, the estimated 
population of India in 2021 is 136.13 crore, of 
which 48.65% is female population.

	 2.	 Delhi, Chandigarh and Arunachal Pradesh have 
registered a significant increase in the sex ratio.

		  Which of the statement(s) given above is/are correct?

	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 86. 	Consider the following statements in the context of 
World Economic Outlook Report, 2021-

	 1.	 According to the report, India's growth rate is 
estimated to be 12.5% in the financial year 
2021.

	 2.	 The global economy has contracted by 3.3% 
in the year 2020.

	 3.	 The International Monetary Fund has predicted 
a strong economic recovery in 2021 and 2022 
with world growth rates of 6% and 4.4% 
respectively.

		  Which of the statement(s) given above is/are correct?

	 (a)	 1 and 2 only	 (b)	 2 and 3 only

	 (c)	 1 and 3 only	 (d)	 All of the above

	 87. 	Which of the following is/are the major functions of 
NITI Aayog? Select the correct answer using the code 
given below-

	 1.	 To promote cooperative federalism.

	 2.	 To prepare the framework of programs and 
policies for the strategic and long term.

	 3.	 Pay special attention to the groups that have 
been deprived of the benefits of economic 
progress.

	 4.	 Emphasis on technology up gradation and 
capacity building for implementation of 
programs and policies.

		  Codes:

	 (a)	 1, 2 and 3 only	 (b)	 2, 3 and 4 only

	 (c)	 1 and 2 only	 (d)	 All of the above
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	 88.	 jk"Vªh; fodkl ifj"kn ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s&

	 1.	 ;g ,d lafoèkkusrj fudk; gS ftldh LFkkiuk 
vk£Fkd fu;kstu gsrq jkT; ,oa ;kstuk vk;ksx ds 
chp lg;ksx dk okrkoj.k fu£er djus ds fy;s 
dh xbZ FkhA

	 2.	 orZeku esa uhfr vk;ksx dh ^'kklh ifj"kn* ds xBu 
ds i'pkr~ jk"Vªh; fodkl ifj"kn dh egÙkk de 
gks xbZ gSA

	 	mi;qZDr dFkuksa esa dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 89.	 jk"Vªh; vk; ds lanHkZ esa fuEUkfyf[kr dFkuksa ij fopkj 
dhft;s&

	 1.	 fdlh Hkh vFkZO;oLFkk esa ,d o"kZ ds nkSjku mRikfnr 
vafre oLrqvksa ,oa lsokvksa ds ewY;ksa dk ;ksx jk"Vªh; 
vk; dgykrk gSA

	 2.	 vafre oLrqvksa esa miHkksx oLrq,¡ rFkk iwathxr oLrq,¡ 
nksuksa vkrh gSaA

	 3.	 ekè;fed oLrqvksa dks jk"Vªh; vk; dh x.kuk esa 
'kkfey ugha fd;k tkrk gSA

	 	mi;qZDr dFkuksa esa dkSu&ls lgh gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	mijksDr lHkh

	 90.	 fuEUkfyf[kr esa ls dkSu&ls jk"Vªh; vk; dh x.kuk esa 'kkfey 
dh tkus okyh ensa gSa\ dwV dh lgk;rk ls lgh fodYi 
dk p;u dhft;s&

	 1.	 vk; x.kuk esa o"kZ esa mRikfnr vafre oLrq,¡ rFkk 
lsok,¡A

	 2.	 x.kuk o"kZ esa mRikfnr ijarq ml o"kZ dk u fcdk 
gqvk LVkWdA

	 3.	 lSfud rFkk lqj{kk lsok,¡

	 4.	 ykHkka'k

	 5.	 czksdlZ deh'ku

		 dwV%
	 (a)	 dsoy 1] 2] 3 vkSj 4	 (b)	 dsoy 2] 3] 4 vkSj 5

	 (c)	 dsoy 1] 2 vkSj 4	 (d)	mijksDr lHkh

	 91.	 fuEUkfyf[kr dFkuksa ij fopkj dhft;s&
	 1.	 izfrHkwfr] ,d nLrkos”k ;k izek.k&i=k gksrk gS ftldk 

foØ; djds foÙk dh mxkgh dh tkrh gSA

	 2.	 ftl izfrHkwfr ls Øsrk dks izfrHkwfr tkjh djus okyh 
laLFkk ds LokfeRo esa ,d fuf'pr va'k izkIRk gksrk 
gS] va'k izfrHkwfr dgykrh gSA

	 	mi;qZDr dFkuksa esa dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 88. 	Consider the following statements in the context of 
National Development Council-

	 1.	 It is an extra-constitutional body which was 
established to create an environment of 
cooperation between the State and the Planning 
Commission for economic planning.

	 2.	 At present, after the formation of the 
'Governing Council' of NITI Aayog, the 
importance of the National Development 
Council has diminished.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 89. 	Consider the following statements in the context of 
'National Income'-

	 1.	 National income is the sum of the values of 
final goods and services produced in an 
economy during a year.

	 2.	 Final goods include both consumption goods 
and capital goods.

	 3.	 Secondary goods are not included in the 
calculation of national income.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only

	 (c)	 1 and 3 only	 (d)	 All of the above

	 90. 	Which of the following items are included in the 
computation of national income? Select the correct 
option using the code given below-

	 1.	 Final goods and services produced in the year 
in the income calculation. 

	 2.	 Produced but unsold stock of that calculation 
year.

	 3.	 Military and Security Services. 

	 4.	 Dividend. 

	 5.	 Brokers Commission.

		  Codes:
	 (a)	 1, 2, 3 and 4 only	 (b)	 2, 3, 4 and 5 only

	 (c)	 1, 2 and 4 only	 (d)	 All of the above

	 91. 	Consider the following statements-
	 1.	 A security (Surety) is a document or certificate 

by selling which money is raised.

	 2.	 The security by which the buyer receives a 
certain share in the ownership of the institution 
issuing the security is called a share security.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	 92.	 Hkkjr esa deksfMVh ,Dlpsat ds lanHkZ esa fuEUkfyf[kr dFkuksa 
ij fopkj dhft;s&

	 1.	 deksfMVh ,Dlpsat esa dsoy lksuk] pk¡nh vkfn 
èkkrqvksa dh dherksa dk O;kikj gksrk gSA

	 2.	 orZeku esa Hkkjr esa dqy 6 jk"Vªh; Lrj ds deksfMVh 
,Dlpsat gSasA

	 	mi;qZDr dFkuksa esa dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 93.	 fj”koZ cSad }kjk ?kksf"kr ekSfnzd uhfr ds vL=k ;k lk[k 
fu;a=k.k ds rjhdksa esa dkSu&ls midj.k 'kkfey gS&

	 1.	 cSad nj	 2.	 [kqys cktkj dh fØ;k,¡

	 3.	 rjyrk lek;kstu lqfoèkk	4.	 ifjorZuh; dks"k vuqikr

	 	uhps fn;s x;s dwV dh lgk;rk ls lgh mÙkj dk p;u dhft;s&
	 (a)	 dsoy 1] 2 vkSj 3	 (b)	 dsoy 2] 3 vkSj 4

	 (c)	 dsoy 1] 3 vkSj 4	 (d)	mijksDr lHkh

	 94.	 ^jsiks nj* ds lanHkZ esa fuEUkfyf[kr dFkuksa ij fopkj dhft;s&
	 1.	 jsiks nj esa deh ;k òf¼ ls cSadksa dh udn jkf'k dh 

ek=kk esa Øe'k% òf¼ ;k deh cSadkas }kjk fn;s tkus 
okys Í.k esa rFkk rjyrk esa òf¼ ;k deh gksrh gSA

	 2.	 orZeku esa ,d fnolh; jsiks Í.k 'kq: gks x;k gSA

	 	mi;qZDr dFkuksa esa dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 95.	 ^izkFkfed {ks=k Í.knku dk;ZØe* ds lanHkZ esa fuEUkfyf[kr 
dFkuksa ij fopkj dhft;s&

	 1.	 blesa Ñf"k] dqVhj] y?kq ,oa eè;e m|ksx] vkokl 
Í.k (28 yk[k rd) de”kksj oxZ] fu;kZr Í.k] 
f'k{kk Í.k dks 'kkfey fd;k x;k gSA

	 2.	 vkj-ch-vkbZ- ds u, fn'kk&funsZ'kksa ds vuqlkj {ks=kh; 
xzkeh.k cSadksa }kjk izkFkfed {ks=k dks viuh dqy Í.k 
nsunkjh dk 50 izfr'kr nsuk vfuok;Z dj fn;k gSA

	 	mi;qZDr dFkuksa esa dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 96.	 àkbV yscy ,-Vh-,e- ds lanHkZ esa fuEUkfyf[kr dFkuksa ij 
fopkj dhft;s&

	 1.	 ,sls ,-Vh-,e- ftuds lkFk fdlh izorZd cSad dk  uke 
ugha tqM+k gksrk] OgkbV ysoy ,-Vh-,e- dgykrs gSaA

	 2.	 vkj-ch-vkbZ- bl izdkj ds ,-Vh-,e- dks [kksyus ds 
fy;s ykblsal nsrk gSA

	 3.	 ,-Vh-,e- lqfoèkk ds xzkeh.k {ks=k esa izlkj ds fy;s 
;g mi;ksxh gSA

	 	mi;qZDr dFkuksa esa dkSu&ls lgh gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	mijksDr lHkh

	 92.  	With reference to commodity exchanges in India 	
Consider the following statements-

	 1.	 In the commodity exchange only the prices of 
metals like gold, silver etc. are traded.

	 2.	 At present there are total 6 national level 
commodity exchanges in India.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 93. 	The instruments of monetary policy or credit control 

methods announced by the Reserve Bank include-
	 1.	 Bank rate. 
	 2.	 Open Market Activities. 
	 3.	 Liquidity adjustment facility. 
	 4.	 Variable Fund Ratio
		  Select the correct answer using the code given below- 
	 (a)	 1, 2 and 3 only	 (b)	 2, 3 and 4 only
	 (c)	 1, 3 and 4 only	 (d)	 All of the above
	 94. 	Consider the following statements in the context of 

'Repo Rate'-
	 1.	 A decrease or increase in the repo rate leads to 

an increase or decrease in the amount of cash 
of the banks and increase or decrease in the 
amount of credit and liquidity given by the 
banks.

	 2.	 Currently, one day repo loan has been started.
		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 95. 	Consider the following statements in the context of 

'Primary Sector Lending Programme'-
	 1.	 Agriculture, cottage, small and medium 

industries, housing loans (up to 28 lakhs), 
weaker sections, export loans, education loans 
have been included in this.

	 2.	 As per the new RBI guidelines, it has been 
made mandatory for the Regional Rural Banks 
to give 50% of their total credit liability to the 
priority sector.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 96. 	Consider the following statements in the context of 

White Label ATMs-
	 1.	 Such ATMs with which the name of any 

originating bank is not associated, are called 
White Level ATMs.

	 2.	 RBI gives license to open such type of ATM.
	 3.	 It is useful for the spread of ATM facility in 

rural areas.
		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 All of the above
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	 97.	 ^dkWy euh* ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s& 

	 1-	 vxys fnu dh okilh dh 'krZ ij fn;s tkus okys 
½.k dks dkWy euh dgrs gSaA

	 2-	 dkWy euh ekdZsV dk fo'o esa lcls cM+k dsanz yanu 
gS] bls ^fycksj* dgrs gSaA

	 3-	 ^dkWy euh dk jsV ;k ̂ dkWy jsV* dk fu/kZj.k dsaæh; 
cSad djrs gSaA

	 	mi;qZDr dFkuksa esa dkSu&ls lgh gSaa\
	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	mijksDr lHkh
	 98.	 ^,dhÑr e`nk iks"kd rÙo izca/u* ds lanHkZ esa fuEUkfyf[kr 

dFkuksa ij fopkj dhft;s&
	 1.	 fe'ku ds varxZr o"kZ 2020&21 ds nkSjku eq[; iQksdl 

ns'k ds lHkh f”kyksa dks doj djrs gq, ,d yk[k ls 
vfèkd xk¡oksa ds fdlkuksa dks tkx:d djuk gSA

	 2.	 Ñf"k esa f'k{kk izkIRk djus okys ;qokvksa] efgyk Lo;a 
lgk;rk lewgksa bR;kfn ds ekè;e ls xzkeLrjh; e`nk 
ijh{k.k iz;ksx'kkykvksa dh LFkkiuk dh tk,xhA

	 	mi;qZDr dFkuksa esa dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2
	 99.	 osru lafgrk vfèkfu;e] 2019 ds lanHkZ esa fuEUkfyf[kr 

dFkuksa ij fopkj dhft;s&
	 1.	 ;g vfèkfu;e ifjHkkf"kr djrk gS fd etnwjh dh 

x.kuk dSls dh tk, rFkk lHkh jkT;ksa ds fy;s ,dleku 
etnwjh Hkqxrku dk fu/kZj.k fdl izdkj fd;k tk,A

	 2.	 ;g vfèkfu;e] lHkh dks U;wure etnwjh dh xkjaVh 
iznku djrk gSA

	 3.	 dsanz ljdkj 44 dsanzh; Je dkuwuksa dks pkj lafgrk 
esa lekfgr djus dh fn'kk esa dk;Zjr gSA

	 	mi;qZDr dFkuksa esa dkSu&ls lgh gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	mijksDr lHkh
	100.	 vkj-ch-vkbZ dh ladYi ;kstuk ds lanHkZ esa fuEUkfyf[kr 

dFkuksa ij fopkj dhft;s&
	 1.	 ;g ;kstuk ^ds-oh- dkeFk lfefr* dh fliQkfj'kksa  

ij vkèkkfjr gSA
	 2.	 bl lfefr dks dkWiksZjsV Í.kksa ds ,deq'r iquxZBu ds 

fy;s ekinaMksa dh fliQkfj'k djus dk;Z lkSaik x;k FkkA
	 3.	 lfefr us mu lHkh [kkrksa ds fy;s {ks=k&fof'k"V 

ladYi ;kstuk rS;kj dh gS ftuds ikl dqy ̀ 1500 
djksM+ ;k blls vfèkd dk Í.k cdk;k gSA

	 4.	 ;g ;kstuk dsoy mu mèkkjdÙkkZvksa ds fy;s ykxw 
gksxh tks dksfoM&19 ls izHkkfor gq, gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1] 2 vkSj 3	 (b)	 dsoy 2] 3 vkSj 4

	 (c)	 dsoy 1] 3 vkSj 4	 (d)	mijksDr lHkh

97.		  With reference to Call Money Consider the 
following statements-

	 1.	 The Loan given on the condition of next day's 
return is called Call Money.

	 2.	 London is the world largest centre of call 
money market, It is called  LIBOR.

	 3.	 The rate or rate of Call money is determined 
by the Central bank.

		  Which of the statement(s) given above is/are correct?
	 (a)	  1 and 2 only	 (b)	  2 and 3 only
	 (c)	 1 and 3 only 	 (c)	  All of the above
	 98. 	Consider the following statements in the context of 

'Integrated Soil Nutrient Management'-
	 1.	 The main focus during the year 2020-21 under 

the mission is to make farmers aware of more 
than one lakh villages by covering all the 
districts of the country.

	 2.	 Establishment of village level soil testing 
laboratories through the youth getting 
education in agriculture, women self help 
groups etc.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 99. 	Consider the following statements in the context of  

Wages Code Act, 2019-
	 1.	 This Act defines how wages are to be calculated 

and how to determine uniform wage payment 
for all states.

	 2.	 This Act guarantees minimum wages to all.
	 3.	 The Central Government is working towards 

amalgamating 44 central labour laws into four 
codes.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 All of the above
	100. 	Consider the following statements in the context of  

resolution plan of RBI-
	 1.	 This scheme is based on the recommendations 

of 'KV Kamath Committee'.
	 2.	 This committee was entrusted with the task of 

recommending parameters for one-time 
restructuring of corporate debts.

	 3.	 The committee has prepared sector-specific 
resolution plan for all those accounts which 
have total outstanding loan of Rs.1500 crore 
or more.

	 4.	 This scheme will be applicable only for those 
borrowers who have been affected by Covid-19.

		  Which of the statement(s) given above are correct?
	 (a)	 1, 2 and 3 only	 (b)	 2, 3 and 4 only
	 (c)	 1, 3 and 4 only	 (d)	 All of the above


